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In the two sets given below, Set-1 provides the different levels of learning according to

Bloom's Taxonomy, while set-II gives their examples and concerns. Match the two sets and
select from the options to indicate your answer :

Set-1
(Levels of Learning)

(a) Memory level
(b) Understanding level
©) Analysing level
(d) Creating level
Options :

@ (O (c)
(1) a) @ (iii)
(2) (1) (i1) (111)
(3) av) () @
(4) @y Q) @)
Options:

645350576399, 1
64535057700, 2
E4E35057701. 3
EAE35057 702, 4

@)
(11)
(111)
(v)

(d)

(iv)
@av)
(i)
(i)

Set-I1
(Examples)

Identifying examples of a given concept
Generating new ideas
Recalling information

Isolating information into parts

Question Number : 1 Question Id : 64635014678 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535057699,

1
EAE35057700. 2
E4E35057701. 3
BAE35057702. 4

Question Number : 2 Question Id : 64635014679 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Diagnostic Evaluation ascertains

(1) Students performance at the beginning of instructions
(2) (Causes and remedies of persistent learning problems during instructions
(3) Degree of achievement of instructional objectives at the end

(4) Learning progress and failure after instructions

Options:

4835057703, 1
E4E35057704. 2
64535057705, 5
4535057706, 4

Question Number : 2 Question Id : 64635014679 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535057703, 1
64535057704, 2
64835057705 2
E4E35057706. 4

Question Number : 3 Question Id : 64635014680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Among the following which one1s an example of instructional software?

(1) Audio podcast

(2) Printed material or book
(3) Radio talk

(4) Edusat

Options:

4535057707, 1
64535057708, 2
64535057709, =
4835057710, 4

Question Number : 3 Question Id : 64635014680 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535057707, 1
EdBZ5057708. 2
E4B25057709. 3



EAE35057710. 4

Question Number : 4 Question Id : 64635014681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which teaching aids enhance the skills like reading, listening and pronunciation?

(1) Audio-lingual teaching aids (2) Scientific teaching aids
(3) (General knowledge teaching aids (4) Theoretical based teaching aids
Options:

EAE35057711.1
BAE35057712 2
64535057713, 3
64535057714, 4

Question Number : 4 Question Id : 64635014681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350577111
64535057712 2
E4E35057713. 3
EAE35057714. 4

Question Number : 5 Question Id : 64635014682 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From the list given below identify the instructional events which form part of the structure
of a lesson plan. Select your answer from the options given below the list

List of instructional events :

(1) Gainming attention of students

(11) Prior knowledge of students

(i11) Informing the learner of the objectives

(1v)  Stimulating recall of pre-requisite learning

(v) Checking the availability of reading material in the library.
(vi)  Eliciting the desired response

Options :

(1 @ ay )  av)
(2) @) @y vy )
(3) @ @@ W (vi)
4) @) ) @) @)
Options:

64535057715,
64535057716,
4835057717,
E4E35057718.

[ N

Question Number : 5 Question Id : 64635014682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0



Arer &1 778 TRt ° U 3 SAEYHICHS UET I TEEH SN ST FAT T Bl AT AW € | g F A R
e fermeq © & AT 39 Y |

S GIATH forar-avetd i oA

i) faftEt = = aw =

Gi) Frerft @ gl =

(i) wAfermaeRal 1 SRRl & s § gl s

(iv) wftrm i gaftfean & s d giem s

(v) " H 97 gpedt i 3uctesar 6 S e

(vi) difesd TR U &0

faereT

1) @), (D), Gii) = Gv)
@ @), (i), (v) AR (i)
@ G, Gii), (v) AW (vi)
@ (), (i), Gv) | W)

Options:

64635057715, 1
E4E35057716. 2
64535057717, 5
64535057718, 4

Question Number : 6 Question Id : 64635014683 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Think-aloud procedure is

(1) a part of secondary source of data
(2) a technique used to investigate learner strategies and performance
(3) a strategy of testing learners’ aptitude by providing primary sources

(4) a necessary method in scientific research

Options:

64535057719, 1
64535057720, 2
4835057721, 2
E4E35057722. 4

Question Number : 6 Question Id : 64635014683 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535057719, 1
4835057720 2
E4E35057721. 2
4535057722, 4

Question Number : 7 Question Id : 64635014684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Participant observation is a part of

(1) Philosophical research
(2) Mentalist Theory of language
(3) Mathematical research
(4) Ethnographic research

Options:

64635057723, 1
64535057724, 2
64535057725 2
E4E35057726. 4

Question Number : 7 Question Id : 64635014684 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535057723, 1
4835057724 2
E4E35057725. 2
4535057726, 4

Question Number : 8 Question Id : 64635014685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Plagiarism in research is

(1) Creative use of previous data

(2) Copying unscrupulously and malking use of 1t

(3) Quoting someone and citing him/her

(4) Referring to previous data and working over it with new objectives

Options:

64535057727, 1
4835057728 2
E4E35057729. 2
64535057720, 4

Question Number : 8 Question Id : 64635014685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535057727, 1
64535057728, 2
64535057729, 2
E4E35057720. 4

Question Number : 9 Question Id : 64635014686 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A university teacher plans to study the effect of level of aspiration of students in terms of
their socio-economic background on their scholastic performance at the term end evaluation
conducted by an external testing agency. What 1s the dependent variable in this study?

(1) Level of agpiration of students (2) Socio-economic backeround of students
(3) Scholastic performance of students (4) Term end evaluation
Options:



EAE35057731. 1
64535057732 2
64535057733, 3
64535057734, 4

Question Number : 9 Question Id : 64635014686 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535057731, 1
EAE35057732. 2
EAE35057733. 3
EAE35057734. 4

Question Number : 10 Question Id : 64635014687 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Critical language testing 1n a research report 1s

(1) Testing language from an ethical point of view, revealing 1ts misuses
(2) Evaluating the stylistic characteristics of language

(3) Critiquing the ideology of the author

(4) Observing the gender role played by language

Options:

64635057735, 1
64535057736, 2
64535057737, 2
48350577328 4

Question Number : 10 Question Id : 64635014687 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE35057735. 1
64535057736, 2
BAE35057737. 3
64535057738, 4

Sub-Section Number: 2
Sub-Section 1d: 646350696
Question Shuffling Allowed : Yes

Question Id : 64635014688 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

Unquestionably a literary life 18 for the most part an unhappy life, because if you have
genius, you must suffer the penalty of genius; and if you have only talent, there are so many
cares and worries incidental to the circumstances of men of letters, as to make life
exceedingly miserable. Besides the pangs of composition, and the continuous disappointment
which a true artist feels at his inability to reveal himself there is the ever-recurring
difficulty of gaining the public ear. Young writers are buoyved up by the hope and the belief
that they have only to throw that poem at the world's feet to get back in return the laurel-
crown; that they have only to push as a new light 1in hiterature. You can never convince a
voung author that the editors of magazines and the publishers of books are a practical body
of men, who are by no means frantically anxious about placing the best literature before the
pubiec. Nay, that for the most part they are mere brokers, who conduct their business on the
hardest lines of a profit and loss account. But supposing your book fairly launches, its perils
are only beginning. You have to run the gauntlet of the critics. When you are a little older,
vou will find that criticism i1s not much more serious than the bye-play of clowns in a circus,
when they beat around the ring, the victim with bladders stung at the end of long poles. A
time comes in the life of every author when he regards critics as comical rather than
formidable, and goes his way unheeding. But there are sensitive souls that yield under the
chastisement and, perhaps after suffering much silent torture, abandon the profession of the
pen forever.

Sub questions

Question Number : 11 Question Id : 64635014689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Literary life 1s unhappy because

(1) One has to carry the load of being a gemus while not being one
(2) The geniug can still remain a genius and be amidst misery in the face of adversity
(3) Talent brings pseudo happiness

(4) There 1= a constant desire to outshine others

Options:



EAE35057739. 1
64535057740, 2
64535057741, 3
64535057742, 4

Question Number : 12 Question Id : 64635014690 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Young authors aspire to

(1) Equate themselves to the established authors
(2) Remain content in their work only
(3) Achieve glory by their merit yet always in a hurry

(4) Become critics subsequently
Options:
64635057743, 1
64635057744, 2
£4B835057745. 3
64635057746, 4

Question Number : 13 Question Id : 64635014691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The perception towards the publishers and critics in the above passage 1s

(1) That of a scathing attack
(2) That of sympathy
(3) That of generosity

(4) That of cynicism

Options:

4635057747, 1
64535057748, 2
64535057749 =
64535057750, 4

Question Number : 14 Question Id : 64635014692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Experience and age of an author

(1) Makes the author stoic to criticism
(2) Makes the author angry and lovely
(3) Turns the author to a buffoon

(4) Drives the author to cynicism

Options:

64635057751, 1
64535057752 2
64535057753 2
E4E35057754. 4

Question Number : 15 Question Id : 64635014693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The effective way of tackling criticism 1s

(1) To defend onesel f through print media
(2) To be vocal about one's craft
(3) To become a critic of one's own art and start analysing i1ts merit

(4) To be gracefully glued to the artistic exercise

Options:

4535057755 1
64535057756, 2
64535057757, o
64535057758, 4

Question Id : 64635014688 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension
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Sub questions

Question Number : 11 Question Id : 64635014689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535057739, 1
E4E35057740. 2
64535057741, 5
4535057742, 4

Question Number : 12 Question Id : 64635014690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



qa1 oE® Fi =rga g 2

(1) %= %l ©iUd E®i & gaded ST

(2)  Fad A FE Y g8 Bl

(3) A B9 Y A YW % e W 9ed Segarsi H @Al
(4)  TEdiRE § AEE S

Options:

4835057743, 1
64535057744, 2
64535057745 o
64535057746, 4

Question Number : 13 Question Id : 64635014691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

I TR H YRR AR SATeraeht & i geaEfien w vE 2,

(1) o= A=A 7

Q)  HEFMfa &

(3)  @mEar W

@  ameliar @
Options:

64535057747, 1
EAE35057748. 2
EAE35057749. 3
64535057750, 4

Question Number : 14 Question Id : 64635014692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
45350577511

EAE35057752. 2
EAE35057753. 3
BAE35057754. 4

Question Number : 15 Question Id : 64635014693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4535057755 1

E4E35057756. 2
EAE35057757. 3
E4E35057758. 4

Sub-Section Number: 3
Sub-Section Id: 646350697
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635014694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following are barriers to effective communication?
(a) Physical noise (b) Semantic noise
(c) Psychological noise (d) Non-semantic noise

Choosge the correct answer from the options given below

(1)  (a), (b) and (d)
@  (a), (b) and (¢)
3  (a), © and (d)
(4) (a) and (d) only

Options:

64535057759, 1
4835057 7E0. 2
E4E350577EL. 2
4535057762, 4

Question Number : 16 Question Id : 64635014694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635057759, 1
64535057760, 2
64535057761, 2
4835057 7E2. 4

Question Number : 17 Question Id : 64635014695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Non-<content behaviours such as rate of speaking, loudness, tendency to interrupt and

pronunciation peculiarities’ are referred to as behaviour.
(1) Extra-personal (2) Animated

(3) Extra-linguistic (4) Involuntary
Options:

EAE35057763. 1
64535057764, 2
64535057765, 3
64535057766, 4

Question Number : 17 Question Id : 64635014695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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EAE35057763. 1
64535057764, 2
64535057765, 3
64535057766, 4

Question Number : 18 Question Id : 64635014696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a classroom, delayed feedback can happen due to

(1) Use of technology (2) Ezxpanded communication
(3) Semantic noise (4) Partiapatory environment
Options:

EAE350577EY. 1
EAE350577EE. 2
EAE3505776%9. 3
BAE35057770. 4

Question Number : 18 Question Id : 64635014696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE3505776Y. 1
64535057768, 2
645350577649, 3
E4535057770. 4

Question Number : 19 Question Id : 64635014697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In analog communication, contents are considered to be

(1) Convergent (2) Static
(3) Physical (4) Ethereal
Options:

B4E35057771.1
BAG3IS057 772 2
BAE35057773. 3
BAE350577 74, 4

Question Number : 19 Question Id : 64635014697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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BAE35057771.1
BAE35057 772 2
64535057773, 3
64535057774, 4

Question Number : 20 Question Id : 64635014698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following :

Set-l Set-11
(Communication elements) (Description of process part)
(a) BSender (1) Brain
(b) Receiver (11) Electro-magnetic impulses
) Message (1m)  The central nervous system
(d) Medium 1v) Sensory organs

Choose the correct answer from the options given below

@ (b (©) (d)

(1) @ (i) (i1) av)
(2) ) @ av) ()
(3) av) @ (11) (i11)
(4) @ Gv @ Q)
Options:
64535057775,
E4E3505777E.

EABZS057 777,
EAE35057 778,

o LIRS

Question Number : 20 Question Id : 64635014698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



¢ gHfeTa i

gz - 1 gz - 11
(T3YT F aed) (seRH- 9T 1 faaa)
() HIUTH @) afEass
(b) =AIEH (i) AeraesFg e
(c) ®@ew (i) PR S T
(dy W (v) HaE
A=t e g frew # & adt 3w 9w

1 @-@, b -0), -0, d-av
@  (@-@), b)) -0, ©-av), d - @)
@) @-av), (b -Q), ) - @), (d) - (u)
@  (@-), ®)-av), ©-an), d -0

Options:

64535057775, 1

64535057776 2

EAE35057777. 3
EABE3505777E. 4

Question Number : 21 Question Id : 64635014699 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the missing term out of the given alternatives

TEF, UGH, , WKL
(1) CMN
2 UJ
3  VIJ
4  IJT
Options:

BAE350577759. 1
64535057780, 2



EAE35057781. 3
BAE35057 782, 4

Question Number : 21 Question Id : 64635014699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e fou o fasen & faa wum 6 qfd Fifomg
TEF, UGH, , WKL
(1) CMN
@  UJI
3 VIJ
@ LJT
Options:

EAE350577739. 1
B4E35057780. 2
64535057781, 3
64535057782, 4

Question Number : 22 Question Id : 64635014700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The sum of deviation taken from which of the descriptive statistical measure 1s always equal

to zero?

(1) Mean
(2) Median
(3) Mode

(4) Percentile
Options:
Ede35057 783 1
4535057754, 2
64635057785, 3
4635057756, 4

Question Number : 22 Question Id : 64635014700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fefafiaa § o fora auiTers aifisrdl om 8 fae o feem #1090 923 3 g 2

(1)  weHH

(2)  HEATFHAN
(3)  SEEEA
(4)  wIdE =H

Options:
E4E35057753. 1

EAE35057784. 2
E4E35057785. 3
BAE35057 786, 4

Question Number : 23 Question Id : 64635014701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If x and ¥ are two positive numbers and x 1s 25% greater than », what 1s the value of the

ratio>?

X

(1) 0.75 (2) 0.80
(3) 1.20 @ 125

Options:

64535057787,
4835057 7EE.
E4E35057789.
4535057730,

o IR

Question Number : 23 Question Id : 64635014701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A x o y T T T § N xy T 25% At 2@ 2w oHE B
x

L 075 (2) 0.80
@ 120 @ 195
Options:

EAE35057787. 1
64535057788, 2
64535057759, 3
64535057730, 4



Question Number : 24 Question Id : 64635014702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

5% of the inhabitants of a village having died of malaria, a panice set in. During this, 20% of
the remaiming inhabitants left the village. The population is then reduced to 4750. Find the
number of original inhabitants

(1) 5000 2 5250
(3) 6250 (4) 7500
Options:

645350577391, 1
EAEZ5057 7392, 2
E4E350577393. 3
BAE35057794. 4

Question Number : 24 Question Id : 64635014702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

foredt i % 5% FanfiEi & AeifEr § 9 @9 % d1e QU W HAGAE g T 39h qRA 9 AETiEn 3 9
20% < M SEH FT Ol M e afmrasy ma fi AR gew 4750 @ T T F g
AftaniET f @ 2

(1) 5000 (2) 5250
(3) 6250 4 7500
Options:

64535057731, 1
E4535057732. 2
EAE350577393. 3
EAE35057 7394, 4

Question Number : 25 Question Id : 64635014703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If the simple interest on a certain sum for 1 year 3 months at 8}2—% per annum exceeds the

simple interest on the same sum for 8 months at 7% % per annum by Rs. 45, then the sum is

(1) Rs. 600 (2) Rs. 800
(3) Rs. 6,000 (4) HKs. 8000
Options:

E4E35057795. 1
EAE350577396. 2
BAE35057737. 3
64535057738, 4

Question Number : 25 Question Id : 64635014703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gfe foreft g=rafsn @1 aramor sars 84%% dfdad fi 22 4 1 ad 3 AE H 3041 & gaul w 8 HER H 7%
yfqad 6t sl 2 & 45% & Al g sar &, a1 g8 s 2

(1) 600 %. (2) 800=.
(3) 6000, 4) 8000 .
Options:

64535057735, 1
EAE35057 736, 2
EAE350577397. 3
B4E35057738. 4

Question Number : 26 Question Id : 64635014704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If proposition ‘All pens are not pencils’ i1s taken to be True then which of the following
propositions can be False?

(1) All pens are pencils (2) Some pencils are pens
(3) No pen 1s pencil (4) Some pens are pencils
Options:

6453505773959, 1
64535057800, 2
E4E35057801. 3
EAE3505780Z. 4

Question Number : 26 Question Id : 64635014704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe aF aEg ol W e A8 2 F oo " formn Su at FAefafiaa 4 9 0 96 9 9 8@
Fﬁ'ﬁ’l%:

(1) ot o U 44 2 2 @ tFaa = )
@ R ol T AR A 2 @) % U i #
Options:

B4E350577959. 1
64535057800, 2
64535057801, 3
E453505780Z2. 4

Question Number : 27 Question Id : 64635014705 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two premises with four conclusions drawn from them. Which of the
following conclusions could be validly drawn from the premises?

Premises :
(1) All fans are tubes
(i1) Bulbs are not tubes

Conclusions :

(a) Fans are not bulbs
(b) All tubes are fans
(c) Fans are bulbs

(d) No tube 1s bulb

Select the correct answer from the options given below :

D (@, b)© (2) (a)and (d)
(3) () only 4 (D), () and (d)
Options:

64535057803, 1
64535057804, 2
E4E35057805. 3
E4E35057806. 4

Question Number : 27 Question Id : 64635014705 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A & e aey feu o #, ToAm =m feed gra fRe g e snan al & Fefofaa 8 S8 g
Ferd &9 w9 O wiH fou S Had 27

A A ;o () ot T oo F )
(i) sl gl A4 2|

Elea] 1 (a) UM ded A 21
by =ft == 9g 2
© U ¥od 21
(d) = i ZE e A 2
A o e Frwet § & wd s afe
(1) (@, b)), © 2 (a) ()
@) ¥ (a) @ ), ) R’ (d
Options:

64535057803, 1
64535057804, 2
64535057805, 3
EAE3505780E6. 4



Question Number : 28 Question Id : 64635014706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
When subject and predicate of both the premises 1s same but they differ only in quantity, it

18 known as

(1) Subaltern

(2) Contraries

(3) Subcontraries
(4) Contradictories

Options:

64535057807, 1
64535057808, 2
64535057809, 2
4835057810, 4

Question Number : 28 Question Id : 64635014706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Sl GHI ATaR Al < 32T AT faum gae 2, foeq 3t aen B 2 91 g9l TR &9 d ST St 2

(1) T

2  foufia g

@  3u-foula wg

(4)  femarar
Options:

64535057807, 1
64535057808, 2
E4E35057808. 3
E4E35057810. 4

Question Number : 29 Question Id : 64635014707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Identify the reasoning in the following argument :

Writing on paper 1s similar to writing on the board’.

(1) Deductive
(2) Hypothetical
(3) Analogical

(4) Inductive
Options:
E4E32E057511. 1
C4C35057812. 2
64635057513 2
64635057514 4

Question Number : 29 Question Id : 64635014707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Feffiad 9% # 9 $i vgam e e 7 g N2 waEd & wgu g |

(1) P
(2) g A
(3) G AT

(4) HATTHATHS
Options:
64535057511, 1
64635057812, 2
4535057513 2
64535057514 4

Question Number : 30 Question Id : 64635014708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The proposition ‘All leaves are green’ is equivalent to which of the following propositions?

(a) No leaves are green
(b) No leaves are non-green
(c) No leaves are in other color than green

(d) No green is leaf

Select the correct answer from the options given below :

(1) (b), (c) and (d)
(2 (a) and (b)
(3) (b) only

@  (b)and ()
Options:
4835057215, 1
645350573816, 2
64535057817, o
64535057818, 4

Question Number : 30 Question Id : 64635014708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



a% ared | oadl afvn gftd 27 Refafia # 3 R ok e % oedged 2

(@ g il el 2l A 2

b)  FE o =i gfarfza A8 2

© @iz Wl uxht g % sy s a2
@ g ot g, ot A 2

5y o o, faerent 6 & T e A

O O, e W@
@ @O
@ ¥« (a)

@ (b R (o)

Options:
64535057515, 1

E4E3505781E. 2
EAE35057817. 3
64535057818, 4

Sub-Section Number: 4
Sub-Section Id: 646350698
Question Shuffling Allowed : Yes

Question Id : 64635014709 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension



Consider the following table that shows the total number of tickets sold of five movies P, Q,

R, S and T, across two cinema houses A and B on a particular day. In accordance with the
table, answer the questions that follow (Question 31-35) :

Sale of Movie Tickets Cinema house wise
Cinema
Movies
A B
P 200 2300
Q 350 400
R 250 1510,
S 200 350
T 400 250

Sub questions

Question Number : 31 Question Id : 64635014710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The number of tickets sold of movie T' at Cinema house A 1s what percent of the number of
tickets of movie P sold at Cinema A?

(1) 220% (2) 200%
(3) 210% 4) 190%
Options:

E4E35057819. 1
64535057820, 2
64535057821, 3
E4535057822. 4

Question Number : 32 Question Id : 64635014711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the total number of tickets sold of movies @ and R together at both the Cinemas A

and B together?

(1) 1050
(2) 1200
(3) 1250
(4) 1350
Options:

EAE35057823. 1
E4E35057824. 2



EAE35057825. 3
BAE35057826. 4

Question Number : 33 Question Id : 64635014712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the ratio of the number of tickets sold of movie P at Cinema B to the number of

tickets sold of movie @ at Cinema B?

(0 2:8
2) 314
B 1:2
(4) d:5
Options:
64535057827, 1
4835057828 2
E4E35057829. 2
64535057820, 4

Question Number : 34 Question Id : 64635014713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the difference between the total number of tickets sold of all movies together at
Cinema A and the total number of tickets sold of all movies together at Cinema B?

(1) 180 (2) 170
(3) 150 (4) 160
Options:

64535057831, 1
64535057832, 2
64535057832, 3
EAE35057834. 4

Question Number : 35 Question Id : 64635014714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the average number of tickets sold at Cinema B for movies T and S together?

(1) 360 (2) 820
3 300 4) 840
Options:

E4E35057835. 1
EAE35057836. 2
E4E35057837. 3
64535057828, 4



Question Id : 64635014709 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehension

Fffiga arferer ot fa=m $ifse, S v f@em 7 w e - o i e - & d o= feedi-i ey,
An, v o1 & F BEwd fi o gen fi W auid 21 g9 aifde % aar wog@ e gl (vee g
31-35) % 3 difor:

formram feew-femal i sl
e ferraTeR
T Eil
ot 200 300
| 350 400
aw | 250 350
o 300 350
Gl 400 250

Sub questions

Question Number : 31 Question Id : 64635014710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frarEr-v @ fhen-& 6 owl f1 15 fewd 6 gem = yfdea FAaEr-v @ Gea-dt < &= o0
femral =i wwean 6t qoFT § foar an?

(1) 220 yidwd (2) 200 yfdvE
(3) 210 yiqwd 4) 190 yfes@
Options:

645350578149, 1
64535057820, 2
E4E35057821. 3
EAE35057822. 4

Question Number : 32 Question Id : 64635014711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



aHl Frmmedi-u, S sfl %1 e & Fon-a9 i fhon-aar i fishl 1 78 fewel 1 e @ e 27

(1) 1050

(2) 1200

(3) 1250

(4) 1350
Options:

64535057823, 1
64535057824, 2
EAE35057 825, 3
EAE35057826. 4

Question Number : 33 Question Id : 64635014712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ot W feen-dt 6t fasht $t 78 el 6t g = wuE fRmmEe- v fFen-ay e Geft &
fesrdl 6 qaT | ferar 2:

R 2:3
@ 3:4
@ 1:2
@ 3:5
Options:

EAE35057827. 1
E4E35057828. 2
64535057829, 3
64535057830, 4

Question Number : 34 Question Id : 64635014713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

forre-v v g fyen w ot el i feht 6 13 el it wa den it Rearer-d o ga faen &
ot fecHi it fosht it 73 fewdl i v gen F e v feen 27

(1) 180 (@ 170
(3) 150 (4) 160
Options:

E4E35057821. 1
B4E535057832. 2
64535057833, 3



EAE35057834. 4

Question Number : 35 Question Id : 64635014714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

forwre-sft ot fon-4t eiiv um $i e Ware skt $ 0 2w $1 sfoa gen feadf 22

1) 360 (2) 320
(3) 300 (4) 340
Options:

64535057835, 1
64535057836, 2
EAE3505783Y. 3
EAE35057838. 4

Sub-Section Number: 5
Sub-Section I1d: 646350699
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635014715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following statement(s) is/are True in respect to ICT?
| i ICT is an acronym that stands for information and competitive technology.

Q : The effective use of ICT to support learning in the inclusive education exemplifies
good teaching for all learners.

(1) Ponly (2) Q only
(3) Both P and Q (4) Neither P nor @
Options:

E4E35057839. 1
64535057840, 2
64535057841, 3
64535057842, 4

Question Number : 36 Question Id : 64635014715 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFrefafiaa 4 @ #a /w8 w9 g @ & % o d w12 2/77

P®) . A e uiEd 2, R aerd FeReE Ut st e (e vE giaer et
T 21
@ gurasi e § 2t sadR % fau 2 O & 1 avrdt soe ol SendiE F oo v a=s
ST %71 32E 2 |
1) % (P) (2 e Q)
@ (@) =@ aF 4) Fd @) HATd Q)
Options:
C4E2E057FEE9. 1
C4E3E057E40. 2
LdE2E057541. 2
C4EZEOSFE4Z. 4

Question Number : 37 Question Id : 64635014716 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 18 spyware 1in respect of computer software?

(1) Software that aims to gather information about a person without his'her knowledge,
and that may send such information to another entity

(2) Legitimate software that allows companies to monitor and supervise the computers of
their employees from a central location

(3) Software used to disrupt computer operation or gain access to private computer
systems

(4) A computer program hidden within another seemingly harmless program that
produces copies of itself and inserts them into another programs or files

Options:

435057543 1
64535057844, 2
64535057845 =
64535057846, 4

Question Number : 37 Question Id : 64635014716 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



YR HTF2AAE & e U TIrEagy 491 27

(1) &2 "iwee, o1 3299 U <Afad < 9i 8 30ehl STHA % 91 G=@1 U 1 2 @l 88 39

e ol g1 A FeRE 9 w2 |

(2) @2 a9 divedw, Al B9l #l Uk b ud 9 3k wHaiiEl & el o Faea i gut
e &l 2 |

(3) a8 G, e weg % uferen ® fGges w6 @ B weer yonelt 9% 9gw 9n % fog
39 foa S 2 |

@)  UF @ g amed g & arfd few o were sium, st s gfafaftien sam 2
AN T WU AT FEeH H Oy =T 2 |
Options:
64635057843,
64635057544,
64635057845.
64635057846.

o IR

Question Number : 38 Question Id : 64635014717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following best describes a wiki?

(1) A system that allows users to add information onto a website but does not change
any pre-existing information

(2) A system that allows collaborative modification of 1its content and structure directly
from the web browser

(3) A system that serves as a publically accessible personal journal for an individual
(4) A system that monitors the modification of content within a blog

Options:

45350575471

E4EZEOE VLS. 2

E4E35057848. 3
E4E35057850. 4

Question Number : 38 Question Id : 64635014717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fFefafaa 5 9 =9 fadh (Wiki) =1 399 e 2ar 2:

(1) & yonell, St ITERTRAlA] 1 Uh JaEEe 9 gl Sied adt 2, <ifee g | e e ot gemn
= fafda w3 81 &t |

(2) Ok qolel, S Gead ©9 3 e Ao A A% [Avaa o TRV IR araie B erat ot 2
(3) U 9UIel, S A & 8 A v safdana e & w1 1@ e wdt 2
4) U wunelt, St U sArT F oia Areied & FIRE S 2

Options:



EAE35057847. 1
64535057848, 2
64535057849, 3
64535057850, 4

Question Number : 39 Question Id : 64635014718 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Anjali's teacher uses VLE, a software tool designed to deliver courses online. The acronym
VLE stands for

(1) Video Learning Environment
(2) Visual Learning Environment
(3) Virtual Learning Environment

(4) Visual Local Environment
Options:
64535057851, 1
64535057852, 2
64535057852 2
64535057854, 4

Question Number : 39 Question Id : 64635014718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wetel! 1 s SAeng TreE=dl WH i F fore dun fR e v atveds 3uer U § 3w
F1 2 | 21 ufiaef & vet § @ 9 9 2

(1)  difgal afFHT FHaEEse
2 oz afHin ez
(3)  Sd AR SHaEEEE
@) TS @ FaEEHE

Options:

64535057851, 1
64835057852 2
4535057852 2
64535057854, 4

Question Number : 40 Question Id : 64635014719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the decimal equivalent of binary number 11001107

1 102
@ 204
3 153
@ 5l
Options:

64535057855, 1
E4E35057 856, 2
E4E35057857. 3
64535057858, 4

Question Number : 40 Question Id : 64635014719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fg-=rha 1100110 =1 T9geH G¥HeTd FHT 27

1 102
@ 204
@ 153
@ 51
Options:

64535057855, 1
E4E35057 856, 2
E4E35057857. 3
64535057858, 4

Question Number : 41 Question Id : 64635014720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which are the examples of potential kinetic energy? Select your answer from the options
given below :

1) Water that 1s beluind a dam

(11) Radio signals

(i11)  An airplane idling on the runway
av) A satellite before it 1s launched
() A colled spring

(vi)  Heat harnessed from the oceans
Options :

(1) @, ), av) and (V)
(2) @, @), (1) and (v1)
(3) (@), Gum), Gv) and (v)

(4) (@), @v), (v) and (v)

Options:

64535057859,
64535057360,
4835057361,
4535057862,

o P

Question Number : 41 Question Id : 64635014720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(i)  GEAIY 92T g1 faHA
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fareu

Q) @, i), (v) # @)
@ ), @), (i) #N (Vi)
(3 G, (i), (v) I )
@ QD) (v), v) 3 (Vi)

Options:

64835057359, 1
E4E35057EE0. 2
64535057861, o
4535057862, 4

Question Number : 42 Question Id : 64635014721 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Statement I : The Millennium Development Goals were adopted in the United Nations in
the year 2010

Statement II : Developing a global partnership for development was one of the Millennium
Development Goals.

Which of the above statements 1s/are correct?

(1) Only I

(2) Only IT

(3) Both I and II
(4) Neither I nor IT

Options:
64635057863, 1
E4E35057864. 2



EAE35057865. 3
E4E35057866. 4

Question Number : 42 Question Id : 64635014721 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1) (D)
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@ @A aE
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Options:
E4E35057563. 1

EAE35057864. 2
E4E35057865. 3
E4E35057866. 4

Question Number : 43 Question Id : 64635014722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following conferences/summit 1s also known as UN Conference on

Sustainable Development (UNCSD)?

(1) The Stockholm Conference, 1972
2) The Rio de Janerio Conference, 1992
(3) The Johannesburg Summit, 2002

(4) The Rio + 20 Conference, 2012
Options:
EAEZE057EEY. 1
4035057868, 2
64635057569, 3
64635057570, 4

Question Number : 43 Question Id : 64635014722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  &iwEm T, 1972

@  frear & sefien adie, 1992
(8)  SirEwgsri fraw o, 2002
(4  f=l +20 g9er, 2012

Options:

64535057867, 1
64535057868, 2
4835057869 2
E4E35057E70. 4

Question Number : 44 Question Id : 64635014723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the formation of surface Ozone, which of the following do play an important role?

(a) Oxides of mtrogen
(b) Oxides of sulphur
(c) Sunlight

() Carbon monoxide

Choose the correct answer from the code given below :

1) (&, b)), ©
@ (b)) @D
@ @ 0 @
@ (@), b) @

Options:

64635057871, 1
E4E3S0S7E72. 2
645350573573, 5
4535057874, 4

Question Number : 44 Question Id : 64635014723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1)  ABISH & AlFEed

@)  uew % sAieuEe

(3) 4w gH

(4)  FEA HAGFAREE

A fow e g ¥ & wd I g

1 @, b), 0
@ B © W
@ (@, ©), W@
@ @ b d

Options:

64535057871, 1
E4E3E057EYZ. 2
E4E3E057E7Z. 2
645350573574, 4

Question Number : 45 Question Id : 64635014724 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following belongs to the category of geophysical hazards?

(1) Infestation (2) Avalanches
(3) Invasive species (4) Diseases
Options:

64535057875, 1
EABE3505787E. 2
EAGE3S05787 Y. 3
E4E35057878. 4

Question Number : 45 Question Id : 64635014724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fefafiga 9 @ #=9 Hifas-witios i i goft | s 27

1)  mE (2) femam
(3) ATHMEF ST (4) st
Options:

E4dE25057875. 1
E4dBZE057E7E. 2



EAGE3S05787 Y. 3
B4E35057878. 4

Question Number : 46 Question Id : 64635014725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

GIAN (Global Imitiative of Academic Networks) has been launched by Government of India
1n order to

(1) Encourage Indian Scholars to learn abroad
(2) Discourage Indian Scholars from researching in India
(3) Encourage global scholars engage with their counter parts in India

(4) Encourage global scholars to engage with Indian Scholars abroad

Options:

64635057879, 1
64535057880, 2
64535057881, 2
4835057882, 4

Question Number : 46 Question Id : 64635014725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

YT TCHN BT o1 218.0. 0. (Toilaa sHfEnfea a1 srheius dzaad) # am & & 3299 &

(1)  WAdE A=Al #i fges d e agu 1 & oo dienfaa &)

(2)  vndE @Al B 9 J Mg w1 3 gdieanad 1|

(3)  aAfvas wAwadl 1 URd H He quaradl & a1y B FF FH F e dieied F60
@  Afvas wedaredl &I fERy § yrdla asias & @ e s wE s #F e defzg s

Options:

E4E350575749. 1
64535057880, 2
64535057881, o
64535057882, 4

Question Number : 47 Question Id : 64635014726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following forms a necessary component of Conventional Education System
in India?

(1) Learming from books (2) Learning from the teacher
(3) Learning from thinlking (4) Learning through instructional material
Options:

E4E35057883. 1



EAE35057884. 2
64535057885, 3
E4535057886. 4

Question Number : 47 Question Id : 64635014726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fefrfaga @ 9 v v 3 e ez & us AEvas ued 27

(1) gl ° HigA (2) o= o dign
@)  faaT | " (4) SFeTETHS Gl & wreEm o e
Options:

64535057882, 1
EAE35057884. 2
E4E35057885. 3
E4E535057886. 4

Question Number : 48 Question Id : 64635014727 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following five year plans of India has e1ven special emphasis on “Education
and Manpower”?

(1) Third Five Year Plan (2) Fourth Five Year Plan
(3) Second Five Year Plan (4) Fifth Five Year Plan
Options:

64535057887, 1
64535057888, 2
E4E35057889. 3
EAE35057830. 4

Question Number : 48 Question Id : 64635014727 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fefefiga 9 @ ara & foem gemdfa gomn & e d aee i’ o fa @ foan mn

(1)  derd geadia e (2) el gl A
(3)  zudl g=EdE FeE (4) Rl vEEdi AeAT
Options:

B4E535057887. 1
64535057888, 2
64535057889, 3
64535057830, 4



Question Number : 49 Question Id : 64635014728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Brain drain problem which was dominant in the muddle of 20t Century in India 1s indicative
of which one of the following aspects?

1)  Lack of adequate facilities for advanced study and research in India

1) The capacity of the developed nations to buy the talent at a price beyond the means of
the developing nations

(111) Increase of population and under utilization of human research
Choose the correct option from below

(1) Only (1) and (111)
(2) Only (i) and (iii)
(3) Only (ii1)

(4) Only (1) and (1)

Options:

4635057891, 1
64535057892, 2
64535057893 2
64535057594, 4

Question Number : 49 Question Id : 64635014728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

"rd H 2047 wrared! & wea § ywrEt @ gl vama o Fafafaa § o fea us # afeEs 37

()  WNE H I AT AN g & uAiE g w1 emE |

Gi) o 2o ft 39 o @ ufaw-g i awman, St faemsfia 2s & g 7 981 o)
(i)  SHEEETH g A ARE SEEAl w1 Ad- I

1 R o, freedi # @ ad fwen gfo:

(1) *aa (i) SN (jii)
(2) Fad (i) AN (i)

(3) Fae (iil)
(4) Fad (1) AT (i)
Options:

645350578391, 1
64535057832, 2
E4E35057893. 3
E4E35057894. 4



Question Number : 50 Question Id : 64635014729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The premier organisation established 1n India to deal with capacity bullding and research in
planning and management of education in India and South Asia is

(1) ATU
(3) NUEPA
Options:

64535057835, 1
E4E35057 856, 2
EAE35057897. 3
E4E350578398. 4

(2) SAARC Umversity
(4) Nalanda Unmversity

Question Number : 50 Question Id : 64635014729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g A1 2o uyEr | e F FEeE o ydeq 6 gear w0 99 F 3Ry O 9nd § ©nfud R

T & WS AT 2

1) TRy
@) wgidu

Options:

64535057395, 1
E4E3S5057896. 2
E4E35057897. 2
64535057898, 4

(2) Hrh iﬁaﬁfﬁ (SAARC University)
(@) Awe fafvaenea

FART II Defence and strategic Studies

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

646350351
2

Online
Mandatory
92

92

200

Yes

No

1
646350700
Yes

Question Number : 51 Question Id : 64635014730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



Who amongst the following had suggested that the notion of secuntv should no longer
be limited to the military domain, but also to the economic, the societal, the
environmental and political field?

1. Walter Lippman

2. Barry Buzan

3. Amold Wolfers

4. Ken Booth
Options:
435057599 1
E4E2E0573900. 2

E4E35057301. 3
EAE350573902. 4

Question Number : 51 Question Id : 64635014730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

38 & 3 frma g9ma fem w 6 an &1 we o 9 47 o9 Hifta 791 w0 ofse afes
sfife, amfoe, miawia R Tu-fae &9 0o el aF wiee?

1. e ferie

2. aftgeH

3. fes afewd

4, FTY
Options:

B45350578595. 1
64535057300, 2
64535057301, 3
EAE3505730Z. 4

Question Number : 52 Question Id : 64635014731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which book, the concept of "societal security” has been defined by the authors as ‘the
sustainability, within conditions for evolution, of traditional pattems of language
culture and religions and national identity and custom'?

1. Security : A New Framework for Analysiz (1005)
2. Regions and Powers : The Structure of International Power (2003)

3. Writing Security . United States’ Foreign Policy and The Politics of
Tdentty (1992)

4. Power, Economics and Security (1992)

Options:

64535057903, 1
64535057304, 2
64535057305, =
64535057306, 4

Question Number : 52 Question Id : 64635014731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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| FFEghiE: g baad wiv g (1998)
). fewUsgey: @ @ M Fer070 Wav(2003)

3. TR REghTe: gaEes oy T g 0 13 gifoneaw Hiw HiFare
(1992)

4. &% s@iAnaeT G [Eegiel(1992)
Options:
648350573903 1
E4E35057904,. 2

E4E35057305. 3
EAE35057306. 4

Question Number : 53 Question Id : 64635014732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the fullawing is NOT related to “soft p-nw:r' diplumaty'?

1.  Creditline

2. Culrural ties
3. Civil defence
4. Joint exercises

Options:

648350573907, 1
4535057308, 2
64535057909, 5
64535057910, 4

Question Number : 53 Question Id : 64635014732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frafafaa 4 | $9-a1 ‘Hite nar ==y | ddfia ad g2

1. wHiEEaEa

2. witplde dEy

3. A

4. HgEd e
Options:

64535057307, 1
E4E350573908. 2
E4E350573903. 3
B4535057310. 4

Question Number : 54 Question Id : 64635014733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



In which vear Indian Navy has declared “Maritime Security Strategy @ Ensuring Secure
Seas’ doctrine?

1. 2014
2. 2015
3. 2011
4, 2013
Options:

E4E35057911. 1
B4E35057912. 2
645350573913, 3
645350573914, 4

Question Number : 54 Question Id : 64635014733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fra o & wrdin A 3 Aiern famgfife €@  wfe fawin 99 fagia difte
farmme

Options:

64535057911,
4835057912,
4535057913,
64535057914,

o LIPS

Question Number : 55 Question Id : 64635014734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following is NOT a realist approach of foreign policy?

1.  Principle of autonomy
2. National interest
3.  Mandala theorv

4.  Tolerance
Options:
4535057915, 1
E4E2505791E. 2
E4525057917. 3
64535057915 4

Question Number : 55 Question Id : 64635014734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fratfss # 3 #9-a1 fgw it =1 v audws sorm adl 2

1. =oaa = e

2. vpfew

3. vz Rl

4. wfgwm
Options:

645350579151
64535057316, 2
E4E350573917. 3
EAE350579158. 4

Question Number : 56 Question Id : 64635014735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is the nght wayv to define intemational relations as a

diseipline?
1. DPluralistic
2 Antagonistic
3 Esoteric
4 Stoic
Options:

64535057915, 1
64535057920, 2
64535057921, 3
EAEZS057922. 4

Question Number : 56 Question Id : 64635014735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
% faww & wo § siawiphy 99y &t ahvuifia s & g Fofafae €3 o9 ad ale

&
1. agaamE
2. At
i T
4 fovem
Options:

E4E350579143. 1
EAE35057920. 2
B4E535057921. 3
BAE35057922. 4

Question Number : 57 Question Id : 64635014736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Davton Accord/ Davton Peace Agreement was signed to solve the problem of
1.  East Timeor
2.  Bosnia and Herzegovina
3. EKosovo

4, Vietnam
Options:
E4E25057925. 1
EAE25057924 2
E4535057925. 3
64535057926, 4

Question Number : 57 Question Id : 64635014736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frafofam §9 fee e & wavm & o 330 oatd /2 oifs ooshe « oenen fsg o

g7
1. o feei
2. Eifem iR e
3. wrEd
4. Ragam
Options:

64535057923, 1
64535057924, 2
EAE35057925. 3
EAE35057926. 4

Question Number : 58 Question Id : 64635014737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Critical Security Studies theory is based on
1. ‘balance of power and alliances
2. rationale choices and subjectivity
3. neo-realism and constructivism
4. subjective epistemology and objective ontology

Options:

E4E35057927. 1
64535057928, 2
64535057929, 5
64535057330, 4

Question Number : 58 Question Id : 64635014737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535057927, 1
64535057328, 2
E4E35057929. 2
64535057920, 4

Question Number : 59 Question Id : 64635014738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which is NOT a condition for the successful working of collective security?
1.  The States must be roughly equal in power

2. All States must be willing to commit against the aggressor

Sad

An intermnational organization must be prepared to oversee the cooperation
and action of the plan

4, Mazjor powers should resolve the bilateral conflicts of small States at
regional level

Options:

64535057931, 1
64835057932 2
4535057322 2
64535057924, 4

Question Number : 59 Question Id : 64635014738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e TRe F THEN S & fon Fmifes § & #9-0 o o af e

1. =gl @t FiEe =g @ wifEa | sy 5 gE ey
2. i T et & e e & i o § sgs e I

Ui & fraraga s agam & A & o el sharifia dea &1 smm
B dar g ARy

4. E wiwadl &1 &E0 TR W B el & fgusfta whEl o1 gmeE S 91

(¥

Options:

64835057931, 1
E4E35057322. 2
64535057922,
64535057334, 4

Question Number : 60 Question Id : 64635014739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Who among the following is kmown as the prominent thinker of ‘German School of
Geopolitics'?

1. Karl Haushofer

2. Spvioman

3. Rommel

4, Mackinder
Options:

64535057935, 1
64535057936, 2
64535057937, 3
E4E3505792E. 4

Question Number : 60 Question Id : 64635014739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
1 o & T - T wadt o e & ue Rios s d we w7

1. @ B

2. wEEEEe

3. I

4. A
Options:

64535057935, 1
64535057936, 2
645350573937, 3
E4E3505792E. 4

Question Number : 61 Question Id : 64635014740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The founding document of Eurcpean Economic Community (EEC) for commoen
market, now subsumed by the European Union was signed in 1957 under the

1. Treaty of Rome
2. Treaty of European Union
3. Treaty of Warsaw

4, Treaty of Pars
Options:
E4E250579258. 1
EAE25057340. 2
E4535057941. =
64535057942 4

Question Number : 61 Question Id : 64635014740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
e AT & g gEd siflle THE (3. 3. 9 F1 Aite sxdw we feas siaid 19575
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1, ImFEy
2. gEdm Y S
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4, UREFIEN
Options:

B45350579359. 1
645350573940, 2
64535057341, 3
EAE35057942. 4

Question Number : 62 Question Id : 64635014741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Victory is the main object in war. If this is long delaved, weapons are blunted and
morale depressed.” Who among the following thinkers has said this?

1. EKaurilva

2. Fuller

3. Jomini

4.  SunTm
Options:

64535057943, 1
645350573944, 2
E4E35057945. 3
EAE350573946. 4

Question Number : 62 Question Id : 64635014741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B4E35057943. 1
64535057944, 2
645350573945, 3
64535057346, 4



Question Number : 63 Question Id : 64635014742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to the Mandal theory of Kautilva, *Akranda’ is

1 next neighbour to the An
2. friend of the Ari-Mirra

3. friendin therear

4. friend’s friend in the rear

Options:

4635057947, 1
64535057948, 2
64535057349 =
64535057350, 4

Question Number : 63 Question Id : 64635014742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
& AUsT fgit & Sia Hets &
1. iy Aeew o3
2. H-PEwfE
3. gE-wew
4. UE-WCH & itE @ e

Options:

4835057947, 1
4535057348, 2
64535057949, o
64535057950, 4

Question Number : 64 Question Id : 64635014743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who described nine varieties of ground in his writings?
1. Eaurtilva
2. SunTm
3.  Clausewitz

4.  Jomini
Options:
E4525057951. 1
E4E35057952. 2
645350579535 3
64835057954 4



Question Number : 64 Question Id : 64635014743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e o dras F of & A vel F1 auia T e

1. Fifew
2. WE
3. wuiaiees
4 oAt

Options:

64535057951, 1
64535057352 2
E4E35057952. 2
E4E35057354 4

Question Number : 65 Question Id : 64635014744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many forms of diplomacy did Kautilya mentioned in his book, Arathasasira?

1: Five

2.  Three

3 Saven

4. Six
Options:
CE4E25057F955 1
C4E3E0579EE. 2
cdEZE057957F. 2
C4EZEQOSFIEE. 4

Question Number : 65 Question Id : 64635014744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
wiften A o e sdwre @ Oed & s vl = g e

[

1. d=
2. =
3 UG
4 BB
Options:

64535057955, 1
64535057956, 2
64535057357, 3
E4E35057958. 4



Question Number : 66 Question Id : 64635014745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“To conquer the command of the air means victory; to be beaten in the air means defeat
and the acceptance of whatever terms the enemy may be pleased to impose.” Who said
this?

1. ILF. C. Fulle
2. Liddel Hart
3. Giulio Douhet

4. B.W. Mitchell
Options:
64535057359, 1
64535057360, 2
64535057361, 3
64G35057962. 4

Question Number : 66 Question Id : 64635014745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“agaE | HfieR aifte & 1 o § faom; amds 3 eRa F o @ W iR v
R feu @ ard ;i vl & ofy godn o2 e = 22

1. W.OF @ Fw

2. fdwer

3. Tigimsige

4. & ey e
Options:

64535057959, 1
64535057360, 2
E4EZ50573961. 3
EAE35057962. 4

Question Number : 67 Question Id : 64635014746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Kautilavan concept “Vijigisu' refers to
1.  prospenty
2. protection
3. dominion of the enemy
4. would be congueror

Options:
64535057963, 1
E4E35057964. 2

E4B25057965. 5



EAE35057966. 4

Question Number : 67 Question Id : 64635014746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fifeeg =1 ‘fafrfry =1 srumeon fresd Teifim 87

1. &

2. HeEW

3. TS T

4. e
Options:

E4E3505739E63. 1
EAE350573964. 2
E4E35057965. 3
BAE35057966. 4

Question Number : 68 Question Id : 64635014747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘Operation Good Neighbour' is related to
1.  Israel-Palestine

2. Israel-Lebanon

3 Israel-Egvpt

4. Israel-Syria

Options:
435057967, 1

E4E3505796E. 2
EAE35057969. 3
BAE35057970. 4

Question Number : 68 Question Id : 64635014747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
S e T feud g 7

1. Sogo-fEieE

[

T EET

FECT-TE

Lad

4, FEEE_EE
Options:
E4E3E057967. 1
B4E35057968. 2
B4E350579645. 3



EAE35057970. 4

Question Number : 69 Question Id : 64635014748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following countries has used human wave attacks 7

1. America

2. PBussia

3. Iram

4. Irag
Options:

EAE35057971. 1
BAE35057972. 2
B4E35057973. 3
64535057974, 4

Question Number : 69 Question Id : 64635014748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Fraffa 33 fow 3w 3 w0 37 Jmeww 1 s e &2

1. el

2 =™

3. WA

4 =
Options:

EAE35057971. 1
BAE35057972. 2
B4E35057973. 3
64535057974, 4

Question Number : 70 Question Id : 64635014749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following has described temror as a ‘psvchological weapon of

unbelievable povwer'?

1.  Henry Kissinger
2. Jacques Soustelle
3. David Galula

4. Gerald Templer

Options:

E4E35057975. 1
64535057976, 2
645350579377, 2



EAE35057978. 4

Question Number : 70 Question Id : 64635014749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
=94 @ frae oe = sftyeta oiEs o saeme sfitar & =u o afifs a2

1. #fReR

2. SR

3. s dmm

4. RIS TFR
Options:

EAE35057975. 1
BAE35057976. 2
BAE35057977. 3
64535057978, 4

Question Number : 71 Question Id : 64635014750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The ‘Fissile Material Cut-off Treaty’ (FMCT) is a treaty to prohibit the further
production of

1. biological and chemical agents

2. high-enriched uranium and plutonium
3.  high grade chemical material

4. high power explosives

Options:

64535057979, 1
E4E350573280. 2
64535057981, 5
64535057982, 4

Question Number : 71 Question Id : 64635014750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘froge aftfaa se-ie &4 e, m 4. &) e i w6 2 o v & P E @ e
Fore =i Fitg st 22

1. @R ik reatE e

2. Je3-wafig g SR wEitam
3. SHEUS S THEES ael

4. ST oepes

Options:
64535057979, 1
64535057380, 2



EAE35057981. 3
BAE35057982. 4

Question Number : 72 Question Id : 64635014751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The term P5+1 is related to
1. nuclear dialogue with North Korea

2 nuclear dialogue with Iran
3. nuclear dialogue with Pakistan

4 nuclear dialogue with India
Options:
E4E25057985. 1
E4E25057984. 2
E4535057985. 3
64635057956 4

Question Number : 72 Question Id : 64635014751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
gg 415 + 1 fores ddfim &7

1. OO S ® Oy e 5ag
2. A F ay e dag
Ui & |y AfiEg Harg

Lik

4. MG F Ty Tiish g9

Options:

64535057983, 1
64535057384, 2
64835057985 2
45350573386, 4

Question Number : 73 Question Id : 64635014752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which treaty has the clause that "Moon and other celestial bodies shall be used
exclusively for peaceful purposes’”?

1. Place of Weapons in Outer Space

[
'

European Space Treaty

Cuter Space Treaty

e

4.  UN Treatv for Outer Space Research

Options:
64835057987, 1
E4E35057958. 2



EAE35057989. 3
E4535057930. 4

Question Number : 73 Question Id : 64635014752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ferg wfYy # o5 wawm & fF <5 R o oreeTeitg favst @1 o O & wi wiifergol
Fewl & oo e a2
1. sty H eftmmd &1 smmu
2. g ofafesr wfy
3. TR sl Sy

4. aTRI e Ty & g Hgea O wiY
Options:
64535057957, 1
64535057988, 2
64E35057989. 2
E4E25057990. 4

Question Number : 74 Question Id : 64635014753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following African countries made polygamy compulsory due to
heavy male casualties in wars?

1. Nigeria

2. Eritrea

L

Egypt
4. Libva

Options:

64535057991,
645350579392,
64535057993,
4835057994,

[ N

Question Number : 74 Question Id : 64635014753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frafefaa & @ fea snpiet 3w 3 ga 9 yrill Jem A q99] &1 7 & SR agidas &1

sffvard & ui?
1. et
2. wifem
3. fmm
4. wifam

Options:



E4E35057991. 1
B4E535057982. 2
64535057983, 3
64535057934, 4

Question Number : 75 Question Id : 64635014754 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In which country "Arab Spnng” was started in 20117

1. Yemen

2. Egwm

3. Tunisia

4 Svria
Options:

B45350579585. 1
64535057936, 2
64535057937, 3
645350579358, 4

Question Number : 75 Question Id : 64635014754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fra gm #2011 # o B S qream g @

1. s

2. fo=m

3. egetRE

4. difm
Options:

E4E35057955. 1
64535057986, 2
64535057937, 3
64535057938, 4

Question Number : 76 Question Id : 64635014755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The Nine-Dash Line is related to which water region?

1. South China Sea

[

Persian Gulf

Lad
v

East China Sea

4.  Andaman Sea

Options:



EAE350579595. 1
64535058000, 2
64535058001, 3
E453505800Z2. 4

Question Number : 76 Question Id : 64635014755 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g2 s fw o A @ wEfiT 8
1. gi&it = Ee
2. BRAS AE
3. HFaTR
4, SEHFA T
Options:

B45350579595. 1
64535058000, 2
64535058001, 3
E453505800Z. 4

Question Number : 77 Question Id : 64635014756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which country is related to “Aegis Ballistic Missile Defence Svstem™?

1. Britain

b

America
3. Russia

4. Israel
Options:
64535058003 1
64835053004, 2
64535058005, 5
E4EZ5053008, 4

Question Number : 77 Question Id : 64635014756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘ofera At fiverge fetre frew frm tmd Wefim &7

1. f&s
2. aifr
3. =4



Options:

64535058003, 1
64835058004, 2
4535058005, 2
64535058006, 4

Question Number : 78 Question Id : 64635014757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which vear Evoto Protocol entered into force?

1. 2007
2. 2001
3. 2003
4. 2005
Options:

E4E35058007. 1
E4E35058008. 2
E4535058005. 3
E4535058010. 4

Question Number : 78 Question Id : 64635014757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

for o & I Hictmie o gan ui?
1. 2007
2. 2001
3. 2003
4. 2003
Options:

64535058007, 1
E4E35058008. 2
E4E35058003. 3
E4E35058010. 4

Question Number : 79 Question Id : 64635014758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
India-Amernica Martime Securitv Dialogue (2017) was held ar :

1. ERhodelsland
2. Guam Tsland

Hawaii Island

Lad

4. Okinawa [sland



Options:

64535058011, 1
64835058012 2
4535058012 2
64535058014, 4

Question Number : 79 Question Id : 64635014758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ha- s St e ol (2017) FE st g¢ 4

1. EEd

2. THEEN

3. FERaEm

4. feTade
Options:

64535058011, 1
64535058012, 2
64535058012, 3
E4E35058014. 4

Question Number : 80 Question Id : 64635014759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Russian Kant airbase is located in
1 Kyrgvestan

2. Oman

3. Tudanenistan

4. Kazakhstan
Options:
E4E825058015. 1
E4E25058016. 2
E4535058017. =
64535058015 4

Question Number : 80 Question Id : 64635014759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

w4 Pl Hic [IET FE i 87
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Options:

64535058015, 1
64835058016, 2
4535058017, 2
64535058018, 4

Question Number : 81 Question Id : 64635014760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Brown Amendment’ was adopted by the US Senate in which }':a.r".’

1. 1920
2. 1995
3. 1996
4. 1986

Options:

64635058019, 1
64535058020, 2
64535058021, =
64835058022, 4

Question Number : 81 Question Id : 64635014760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
vt dihe 3 e o | Iras e @ o em

1. 1990
2. 1995
3. 1996
4, 1986
Options:

E45350580143. 1
B4E35058020. 2
64535058021, 3
64535058022, 4

Question Number : 82 Question Id : 64635014761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following countries has developed and applied the idea of ‘peaceful
coexistence’ during the Cold War era?

1. USsA

2. Britain

3. Soviet Union
4. Germany

Options:

64535058023, 1
64535058024, 2
64535058025 =
4835058026, 4

Question Number : 82 Question Id : 64635014761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FraferfRa 49 fr 3w 3 ol g2 & =rords % S wifagl w- it & fer = e
ferm 3R w1 v fem?

1. Hgea e s

2, famm
3. difdgadw
4.

Options:

64835058023, 1
E4E35058024. 2
64535058025, o
4535058026, 4

Question Number : 83 Question Id : 64635014762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The elite paramilitary force of Iran is known as

1.  The Revolutionary Guards

[

Paramilitary Force of Iran
3. Iranian Border Force

4.  Tehran Rangers
Options:
E4535058027. 1
EAE25058028. 2
E4E35058029. =
64535058030, 4

Question Number : 83 Question Id : 64635014762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
& & siftea o -3 an 51 e Tm o I &7

1. e T
2. Etmwmad-dfe e

T S

s

4. TwEmEEE

Options:

64535058027, 1
64535058028, 2
64535058029, =
E4E35052020. 4

Question Number : 84 Question Id : 64635014763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Integrated Defence Staff (IDS) was instituted in the vear

I 2000
2. 2001
3. 2002
4. 2003
Options:

E4E35058021. 1
E4535058032. 2
64535058033, 3
64535058024, 4

Question Number : 84 Question Id : 64635014763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
for ok o uiiera van wTE (303, Bt UH) F SR B g A

1. 2000
2. Mo
3. 2002
4, 2003
Options:

E4E35058021. 1
E4E35058032. 2
E4535058033. 3
64535058024, 4



Question Number : 85 Question Id : 64635014764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Malacca Dilemma is related to which country?

1. China
2. Japan
3. America

4. South Korea
Options:
E4525058035. 1
E4E35058036. 2
64535058037, 2
64635053038, 4

Question Number : 85 Question Id : 64635014764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

PI-T S8 He o | HeiiE 87
1. Hi=
2. WA
3. i
4. clEmei
Options:

64535058035, 1
64535058036, 2
E4E35058037. 3
EAE3505803E. 4

Question Number : 86 Question Id : 64635014765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which State of India "Wational Institute of Research and Development in Defence
Shipbuilding” is situated?

1 Tamil Nadu

[
'

West Bengal

Kerala

Laa
v

4. Gujarat
Options:
64535058029, 1
64535058040, 2
64535055041, 3
64535058042, 4



Question Number : 86 Question Id : 64635014765 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

R & {5 g | e eteye o frd U Sanuie 3 it siufaf@n fRug &2

1. afweErg

2. ofEmdm

3. &

1. e
Options:

64535058039, 1
E4E35058040. 2
E4E35058041. 3
EAE3505804%, 4

Question Number : 87 Question Id : 64635014766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘SIMBEX" referz to

1. Singapore-India Maritime Bilateral Exereise
2. Singapore-India Manne Based Exercise

Singapore-Malaysia Bilateral Exercize

Lad

4.  Singapore-Malaysia Border Exercise

Options:

64535058043, 1
64535058044, 2
645350538045, 2
E4E35058046. 4

Question Number : 87 Question Id : 64635014766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Tamaas & = aren 37

1. Femq-sfem Aferss argtevs teaas e
Rtz weifirn argetet R

4. FomgE-rafim atdy v

[

Lad

Options:
E4E2505504= 1

E4E35058044. 2
E4535058045. 3



EAE3505804E. 4

Question Number : 88 Question Id : 64635014767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Name the book authored by Nitin Gokhale

1.  Bevond NJO848 : The Stachen Saga

2. Beyond NJO342 : The Siachen Saga

(F¥)

NJOE4E » Disputed Territory
4. NJOB42 : Disputed Territory

Options:

64535058047 1

64835053048 2

64535058049, 3
E4EZ5058050. 4

Question Number : 88 Question Id : 64635014767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fafar Tired 2 1 o a1

1. Raizeaa9848 - T o

b

fFaiz o wmos42 . g orm

3. g.ar9848 : By it

4. @842 : Bvgez iedt
Options:
46835058047, 1
46835058048, 2
46835058049, 2
46835058050, 4

Question Number : 89 Question Id : 64635014768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Cold Start Doctrine’ of Indian Army refers to
1. India’s counter-insurgency operations

2. India’s offensive strategy against China

India's offensive strategy against Pakistan

L

4. India s nuclear doctrine

Options:
64535058051, 1
64535058052, 2

E4535058053. 3



EAE35058054. 4

Question Number : 89 Question Id : 64635014768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
YA w391 & SIS w0 Sl @ arad &

1. YRG i uia-feE srEn

[

= & s via 9t sTeamEs Wt
3. UiEw * [Aes YR B S HHE et
4 vEg = iy fagm

Options:

64535058051, 1
64535058052, 2
64535058053 =
64535058054, 4

Question Number : 90 Question Id : 64635014769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Former Minister of State Arun Singh headed which of the following commirtess?
1.  Ammn Singh Committee on Defence Expenditure

2. Amun Singh Committee on Defence Policy

3.  Committee on Restructuring of Armed Forces
4.  Committee on Security Affairs

Options:

64835058055, 1
4535058056, 2
64535058057, o
64535058058, 4

Question Number : 90 Question Id : 64635014769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
yogd e Tt sre fife Pmifes F @ o ol & sy 42

1. Tan =g HEd e R vl
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3. e S @ getee wedt wfafy
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Options:
4235058055, 1

E4E35058056. 2
E4535058057. 3



E4E35058058. 4

Question Number : 91 Question Id : 64635014770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following scholars gave credits to the Bmtishers "for creating a
unified Indian political entity with eclear strategic poliey of defence and offence
maritime security and land defence’?

1. GeorgeF. Kennan
2. George K. Tanham
3 Henry Kissinger
4. Bamy Buzan
Options:
4535058059, 1
4535058060, 2

EAE35058061. 3
EAE35058062. 4

Question Number : 91 Question Id : 64635014770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Profefas 43 fre ofm 3 v witea ydta aoitfts sord & 9o & R feterafet =6t
3 form o, Forerd] 2en = wraforss fifa od e, SmfEe TRen o ot &t wRan o

1. W OE S

2 whd @ cpA

3. FfRER

4, Fhgam
Options:

64535058059, 1
E4E35058060. 2
EAE35058061. 3
EAE35058062. 4

Question Number : 92 Question Id : 64635014771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which two Ministers/Officials of the Government of India and Japan have participated
in the 2+2 dialogue?

1. Prime Minister and Defence Minister

b

Prime Minister and Foreign Minister
3.  Finance Minister and Defence Secretary

4. Foreign Secretary and Defence Secretary

Options:
E4E2E05E083. 1



EAE35058064. 2
E4535058065. 3
E4E35058066. 4

Question Number : 92 Question Id : 64635014771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
YR HN AT S & {1 1 Ay sifiretdt = 2+2 amat & w for 22

1. s SR Tamet

2. TR SR R A
3. el o vameh

4. fEmfE o tan sfm

Options:
4535058063 1

E4EZ5058064, 2
E4E35058065. 3
EAE3505806E6. 4

Question Number : 93 Question Id : 64635014772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is NOT one of the aims of the Indian Ocean Rim
Association (JORA)?

1. Social development of Indian Ocean Rim Region
2.  Enhancing security and protection from piracy

3. Establishing military bases in the region

4. Creation of trade facilities

Options:

64535058067, 1
64535058068, 2
64535058069, =
4835058070, 4

Question Number : 93 Question Id : 64635014772 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fe=s weranR frm w9 (5. 31, oR. U) 1 Peffte A S Fe-w e semm gl &7
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Options:
64535058067, 1



EAE3505806E. 2
E45350580645. 3
E4535058070. 4

Question Number : 94 Question Id : 64635014773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Under the Indus Water Treaty (IWT), India has been given the exclusive rights over the
rivers of

1.  Chenab, Indus, Sutlej
2. Ravi, Beas, Sutlej

3. Jhelum, Indus, Chenab
4 Favi, Beas, Indus

Options:

64535058071, 1
64535058072, 2
64835058072 2
4535058074, 4

Question Number : 94 Question Id : 64635014773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fiy o Y (o, B=eg, &) & slela WG =1 f= Afedl W ueiy Jfisn wer ey 22

1. o Ry, wooe

2 TEL S, e

3. oem fiy e
4. =T Ry
Options:

64535058071, 1
EAE3S05807Z. 2
EAE35058073. 3
EAE35058074. 4

Question Number : 95 Question Id : 64635014774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the National Securitv Council of India which one of the following groups is
responsible to undertake strategic review of the countrv's security concemns?

1.  Strategic Analvsis Group

2. Strategic Policy Group

3. Defence Eeview Committee

4. Natonal Security Analvsis Group

Options:



E4E35058075. 1
E4E535058076. 2
BAE35058077. 3
64535058078, 4

Question Number : 95 Question Id : 64635014774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
WT @ g een ofveg # FrafifEn & @ oh-w W 30 F @ Wien @t watee
Tl 0 ¥ forg gaverd @7
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Options:

64535058075, 1
64535058076, 2
E4E3S058077. 2
4535058078, 4

Question Number : 96 Question Id : 64635014775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The forward Naval base built at Great Nicobar Island, commissioned in 2015, is :

1.  SeaEagle

2. Dolphin

3. Jaltarang

4. DBaaz
Options:

E4E35058075. 1
EAE35058080. 2
E4E35058081. 3
E4E35058082. 4

Question Number : 96 Question Id : 64635014775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535058079, 1
4835058080, 2
4535058081, 2
64535058082, 4

Question Number : 97 Question Id : 64635014776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which among the fu]lowing areas UNODC is engaged ac‘tit'tl}".’

1.  Suppornting least developed countries for their development

2. Supporting children of war affected countries for their phyvsical
development and education

Campaign against chemical weapons

ek

4. Campaign against drags and organized crime

Options:
4525055083 1

E4EZ5058084. 2
E4E35058085. 3
E4E35058086. 4

Question Number : 97 Question Id : 64635014776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
7.0 @ & R PR At d A
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Options:

4635058083, 1
64535058084, 2
64535058085, =
64535058086, 4

Question Number : 98 Question Id : 64635014777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Economic and Social Council (ECOS0C has been established under which one of
the following Chapters of the UN Charter?

1. VthChapter

2. VIIth Chapter

ey

VIIIth Chapter
4. Xth Chapter

Options:

64835058087, 1
4535058088, 2
64535058089, o
64535058090, 4

Question Number : 98 Question Id : 64635014777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ty TP 9T & fae s & sfaia anfife e amiee uftg @t wune @ g 87
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4. Xdf yamg
Options:
64535058087, 1
64535058088, 2
E4E35058029. 2
64535058030, 4

Question Number : 99 Question Id : 64635014778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Article 55 of Chapter IX of the UN Charter promotes

1. self-determination

[

Human Rights
3. intemational security

4. food security

Options:

64835058091, 1
E4E35058092. 2
E4535058092. 5
64535058094, 4

Question Number : 99 Question Id : 64635014778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
HgEa T 9UTHA $ S [X #1 s 55 feus! viene g a7
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4. EEAWH
Options:

E4535058091. 1
E4E535058082. 2
645350580383, 3
64535055034, 4

Question Number : 100 Question Id : 64635014779 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one is NOT a coercive means to preserve peace and secunity and settle conflict?

1. Sanction

Bt

Preventive deployvment

Blockade

[

4, Arbitration

Options:

4535058055, 1
64535058096, 2
64535058097, o
64535058098, 4

Question Number : 100 Question Id : 64635014779 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
wify o e F e AR g F vy F e PofefEe 4 @ 299 oes ae

LG
1. wiedy
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3. TeEd
4, WURE
Options:

64535058035, 1
E4EZ5058036. 2
E4E35058037. 3
E4535058038. 4



Question Number : 101 Question Id : 64635014780 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Tropical evelone’ is related to which category of disaster?
1. Biological
2.  Geophysical
3. Hydrological

4. Meteorological

Options:
4525055099 1

E4E35058100. 2
E4535058101. 2
E453505810%2. 4

Question Number : 101 Question 1d : 64635014780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“SUECEUT THa ([Cue agea) e St e it # deiie 27

1. R

2. Amifes

3. wo-admte

4. dOmmdwmie
Options:

6453505803949, 1
645350558100, 2
E4E35058101. 2
E4E35058102. 4

Question Number : 102 Question Id : 64635014781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one is NOT included as one of the Goals in Sustainable Development Goals
20307

1. Conservation of culture

Pt

Ensuring decent working conditions
3.  Life below water
4.  Building partnerships for achieving the goals

Options:

64535058103, 1
64535058104, 2
64535058105, =
64835058106 4



Question Number : 102 Question Id : 64635014781 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Had faeTa w2030 # 1991 U sy it Fgi 27
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Options:

64535058103, 1
64535058104, 2
64835058105 2
4535058106, 4

Question Number : 103 Question Id : 64635014782 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which ameng the following countries is the largest borrower and second largest share-
holder of Asia Infrastructure Investment Bank?

1. Japan
2. China
3. India
4.  Russia
Options:
C4EZE05R8107.1
C4E3E055108. 2
C4E3E055109. 2
L4EZ2E058110. 4

Question Number : 103 Question Id : 64635014782 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Froftfas # & @91 32 o Sergen fAwdc ¥ o 99 591 Buwd R gE
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Options:

64535058107, 1
E4E35058108. 2
E4535058108. 2



E4E35058110. 4

Question Number : 104 Question Id : 64635014783 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

India's interim defence budget for the vear 2019-201s :

1. #295511 crove

b

¥ 3,01,866 crore

F 2 9% 659 crore

Lea

4. ¥3,06,000 crore
Options:
E452350558111. 1
64535058112 2
64635058113 =2
64835053114 4

Question Number : 104 Question Id : 64635014783 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
a4 2019-20 % fim v &1 afm 1 s et ofn =1 82

1. 295511 FHTT.

b

3,01,866 SIS %,
3. 298680 FHTT,

4. 306,000 HUS T

Options:

64635058111, 1
64535058112, 2
64535058113 2
64835058114, 4

Question Number : 105 Question Id : 64635014784 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which ameng the following is NOT a wartime economic instrument?
1. Embargo
2. Repudiation
3.  Pre-emptive buving

4.  Control of enemv assets
Options:
45250551151
4525058116, 2
C4de3E05E117. 2



E4E35058118. 4

Question Number : 105 Question Id : 64635014784 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fofifas & @ ®F-91 1 goena siiife = 8 27
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Options:

48350581151
4535058116, 2
64535058117, 5
64535058118, 4

Question Number : 106 Question Id : 64635014785 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The term ‘T1OT stands for

1.  The Internet of Things
2, The Intercom ufThings

The Internet of Telecommunications

ek

4.  The Intemet of Technology

Options:
4535055119, 1

E4E35058120. 2
E4535058121. 3
B4E535058122. 4

Question Number : 106 Question Id : 64635014785 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
375, 3. A 9% T T e 27
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Options:
E4EZE0ER1149. 1
4535058120, 2
4535058121, 2



EAE35058122. 4

Question Number : 107 Question Id : 64635014786 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Armrange the sequence of the organizations according to the vear of their establishment :
1. BIMSTEC, 5CO, ASEAN, CPEC
2. CPEC, ASEAN, BIMSTEC, 5CO
3. ASEAN, CPEC BIMSTEC, 3CO

4. ASEAN, 5CO,BIMSTEC, CPEC

Options:

64635058123, 1
64535058124, 2
64535058125, 2
4835058126, 4

Question Number : 107 Question Id : 64635014786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fwifera Sra-t ®1 99 RO & 76 F HTEN B9 4 et &1

1. o, ve e, vditos, it
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Options:

64635058123, 1
64835058124, 2
64535058125, 5
64535058126 4

Question Number : 108 Question Id : 64635014787 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘CAATSA’ stands for

1. Countering America’s Adversaries Through Sanctions Act

2. Containing America’s Adversaries Through Special Act

(r

Cnmba‘ting Amenica's Adversaries Throu gh Sanctions Act

4. Countering America’s Adversaries Through Special Act

Options:
64535058127, 1
64535058128, 2



E4E35058129. 3
64535058120, 4

Question Number : 108 Question Id : 64635014787 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Hoodwme e
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Options:

4635058127, 1
64535058128, 2
64535058129 2
64535058130 4

Question Number : 109 Question 1d : 64635014788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

One of basic principles of defence economics is :
1.  defence expenditure must be in proportion to defence requirements
2. defence expenditure iz a burden on development hence must be avoided
3. till universal peace is established, State must incur defence expenditure

4. defencebudget attract limited scrutiny even in advanced countries like USA
Options:
453505813101
E4E35058132. 2
E4535058133. 3
E4535058134. 4

Question Number : 109 Question Id : 64635014788 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Te 1w @1 UF qE aiw

1. 41000, 141 HAEEaIs & U H 5 Gy

[

T4 o0 [4eTd W U =g B THiey $6H Fu-1 9iey
3. O wify 7w 88 aF U F T4 550 95 S8 8

4. T g @ i wie gt 2, a8 snifve o Refta cad Mida g

Options:
64535058131, 1



E4535058132. 2
64535058133, 3
64535058124, 4

Question Number : 110 Question 1d : 64635014789 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Wheo has authored the book, Jndia s Quest for Secwrity : Defence Policies, 1047657

1. Amiva Kumar Ghosh

[

Lome J. Kavic

el

Jasjit Singh

4. P .M. 5 Blacket
Options:
E4EZE0ER1EE 1
CAEZE0SELZE. 2

E4E35058137. 3
64535058128, 4

Question Number : 110 Question Id : 64635014789 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fermm “Sfeame e Wit figfife : fata oidieiie, 1947-65" T it 27
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4. don o e
Options:

E4535058135. 1
64535058136, 2
64535058137, 3
64535058138, 4

Question Number : 111 Question Id : 64635014790 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is NOT true about Shaurva Missile?
1. It is a surface to surface missile

Z. It is a subsonic missile

It is the land variant of India's K-15 missile

Led

4, The missile can be used by both the sz}' and the Army

Options:
64535058139, 1

: No Display Question Number : Yes

: No Display Question Number : Yes

: No Display Question Number : Yes



E4E35058140. 2
645350558141, 3
64535058142, 4

Question Number : 111 Question 1d : 64635014790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535058139, 1
64535058140, 2
64835058141, =2
E4E35058142. 4

Question Number : 112 Question Id : 64635014791 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which statement is NOT true about the Geosvnchronous Satellite Launch Vehiele
(GSLV) Mark-37

1. This is a fourth generation satellite developed by ISRO

2. It 15 designed to launch heavy satellites and wvehicles for crew in
geostationary arbit

3. A foreign crvogenic engine has been used in this project

4. This is the heaviest rocket of India till date
Options:
E45350581435 1
64535055144 2
64635053145 =2
64535058146, 4

Question Number : 112 Question Id : 64635014791 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535058143, 1
64835058144, 2
E4E35058145 =2
64535058146, 4

Question Number : 113 Question Id : 64635014792 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The DEDO’s rocket system which is evolved into a precision-guided missile is :

1.  Prachand

2. Piniks

3.  Prahir

4.  Nibhay
Options:

64535058147, 1
6453505581458, 2
64535055149, 3
E4E35058150. 4

Question Number : 113 Question Id : 64635014792 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
2 am. €, o Y 3w e womeht F1 A aagn, R erge- P vdors & v f e

fora man 2
1. wEs
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4. fFm
Options:

64535058147, 1
645350558148, 2
64535055149, 3
E4E35058150. 4

Question Number : 114 Question Id : 64635014793 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which one of the following is NOT a phvsical component of cyberspace?

1. Terminals

]

Conduits

MWodes

sk

4. Data manipulation



Options:

64535058151, 1
64835058152 2
E4E35058152. 2
64535058154, 4

Question Number : 114 Question Id : 64635014793 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Praftfae # & 259 g =1 v it oo Al ¥
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Options:

E4E35058151. 1
E4535058152. 2
64535058153, 3
645350558154, 4

Question Number : 115 Question 1d : 64635014794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following is NOT related to quick executive decision svstem :

1.  Advanced intelligence gathering

b

Quick intelligence analysis

Led

Appropnate and effective budgeting
4 Accurate situational awareness

Options:

64535058155, 1
64535058156, 2
64835058157, 2
E4E35058158. 4

Question Number : 115 Question Id : 64635014794 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535058155, 1
64535058156, 2
64535058157, 2
64835058158 4

Question Number : 116 Question Id : 64635014795 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ReCAAP stands for

1. Regional Cooperation Agreement and Amangements for Combating Piracy
2. Resurgence of Central Asia and Asia Pacific

3. Fegional Cooperation Agreement on Combating Piracy and Armmed
Fobbery

4. Regional Cooperation Amangements on Countering Piracy and Armed
Eobbery

Options:
4535055159 1

E4E35058160. 2
E4535058161. 3
E4E35058162. 4

Question Number : 116 Question Id : 64635014795 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fiftwod. | = awd 27
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Options:

64535058159, 1
64535058160, 2
64535058161, 2
4535058162, 4



Question Number : 117 Question Id : 64635014796 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The present Foreign Direet Investment (FDI) allowed in India’s defence seetor is
1. 100 percent
2. T4 percem
3. 49 percent
4. 26 percent

Options:
45250551682 1

E4E35058164. 2
E4535058165. 3
E4535058166. 4

Question Number : 117 Question 1d : 64635014796 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535058163, 1
64535058164, 2
64835058165 2
4535058166, 4

Question Number : 118 Question Id : 64635014797 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the BMD components of US system, THAAD refers to

1. Terminal High Alitude Air Dactrine
2. Terminal High Alritude Area Defence

Threat Against Air Defence

[P

4. Temmunal High Area Assessment Defence
Options:
E4E25058167. 1
E4E25058168. 2
E4535058169. 2
64535058170 4



Question Number : 118 Question Id : 64635014797 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535058167, 1
64535058168, 2
645350581649, 2
E4E3E5058170. 4

Question Number : 119 Question Id : 64635014798 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The term 2+2 is associated with

1. India-US military exercise

bt

India-US strategic partnership

Indo-Pacific command

Lk

4. India’s entry into nuelear suppliers group

Options:

64635058171, 1
64535058172 2
64535058173 2
E4E35058174. 4

Question Number : 119 Question Id : 64635014798 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g 2+2 fared defim &7

1. ura-srtfe 3 anare
2. MR- et uriterd
3.  YRd-WEid FHIS

4. it sl o & uva ot wRkfy

Options:

64635058171, 1
E4E35058172. 2
64535058172, 5
64535058174, 4



Question Number : 120 Question Id : 64635014799 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Stuxnet 2010 (eyber sabotage) was an artack on

1.  Iranian nuclear programme

o

a shut down of the banking svstem in Estonia

closing down of electric grid in Yugoslavia

Lid

4. eyber artack in Nanth Korea

Options:

4535058175, 1
64535058176, 2
64535058177, 2
64535058178 4

Question Number : 120 Question 1d : 64635014799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
waaAT 2010 (FEET ) fFa o R a7

1. S afish seesa

o ]

S &1 AfaT wumett S ool

grreenam @ gdfees s w1 aw g

ek

4. IR i H SEE eHe

Options:
4235058175, 1

E4E35058176. 2
E4E35058177. 3
64535058178, 4

Question Number : 121 Question 1d : 64635014800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Wheo amongst the following has stated thar ‘the third wave brings new problems, a new
structure of communications, new actors on the world stage—all of which drastically
shrink the power of individual Nation-5tate’?

1. Herbert Sipro

2. Alvin Toffler

3. John Herz

4. Carl J. Friedrich

Options:

4535058179, 1
64535058180, 2
64535058181, =
645350581382 4



Question Number : 121 Question Id : 64635014800 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T @ frem w ul s o2 3 Ry e w7 oy, 99 91 oo 7L deee S A e
et 88 it Fufane ap.Ten ) i # arafis wu 3 faersd &7

1. v

2. e EETR

3. wiAEcew

4. @9 FehE
Options:

E4E35058179. 1
64535058180, 2
64535058181, 3
64535058182, 4

Question Number : 122 Question Id : 64635014801 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following factors is NOT responsible for India’s peaceful rising in
international relations since 19987

1. Economie revival

2. Scientific and technological development
3. Well trained human resources

4. rising population

Options:

64535058183, 1
64535058184, 2
64835058185 2
45350581286 4

Question Number : 122 Question Id : 64635014801 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
1998 & ey wedl & wRa & wiftg sngen ¥ fiw Fofafes 4 & o9 one

I Agl 87
1. anfife grirem
2. I o Ui s
3. uierfes aere Hees

4. wgdl waE

Options:
4535058153 1
4535058154, 2



E4535058185. 3
E4535058186. 4

Question Number : 123 Question Id : 64635014802 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ESRO stands for :

1.  European Solar Research Organization
2. European Space Research Organization
3.  Euwropean Sea Research Organization

4.  European Scientific Research Organization

Options:

64535058187, 1
64535058188, 2
64835058189 2
4535052190 4

Question Number : 123 Question Id : 64635014802 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
% UE, o w1 M B

1 iRt s e sl

2. g S s

T e TSI

4. e arEfR e e s

lad

Options:

64535058187, 1
64535058188, 2
64535058189, =
64835058190 4

Question Number : 124 Question 1d : 64635014803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The major objective of India’s 1969-74 defence plan was focused on

1. self-reliance in the field of nuclear technology

[ &%)

self-reliance in the field of warship design and warship production

self-reliance in the field of armament production

LF 8]

4. self-reliance in the field of space technology

Options:
45250551911

E4E350581392. 2



E4535058193. 3
E453505581394. 4

Question Number : 124 Question Id : 64635014803 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HITd B 1969-74 Fi T4 Tier &1 9@ 9594 &8 W i ur?

1. -t weEie & g § smatnia
2. e fEeTe SN g & Idey & & § etk
3. g Ol S gees & e H el

4. offe S B 8 # ek

Options:

64535058191, 1
64835058192 2
4535058192 2
64535058194, 4

Question Number : 125 Question Id : 64635014804 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following spacecrafts of NASA has lost contact with earth after
amving at Fed Planet?

1. Discoverv

[

Columbia
3. Rover Opportunity

4. Adventurer
Options:
E4535058195. 1
64535058196, 2
64635053197 2
645350581398, 4

Question Number : 125 Question Id : 64635014804 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T for ofafie o 3 s e W wgT o wft & W s @ R e

1. el
2. @
3. AR
4. U=

Options:



E4535058195. 1
645350581396, 2
645350581397, 3
645350558138, 4

Question Number : 126 Question Id : 64635014805 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the comrect code for the following Assertion (A) and Reason (R) :

Assertion (A) : The ‘Operation Sadbhavana’ has generated tremendous goodwill
between the Armv and the locals in Kashmir,

Reason (B) : ‘“Operation Sadbhavana’ was an attempt to be more people centric and
based on minimum use of force against the locals.

Select the correct option from those given below :

1. Both(A)and (R) are not true

2. (A)is true but (R) is not true

Se

Both (A) and () are true

4. (A)is nottrue but (B) is true

Options:
4525055199 1

E4E35058200. 2
E4535058201. 3
B4535058202. 4

Question Number : 126 Question 1d : 64635014805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Frafefa sty (A) ik o (R) ¥ B ot g @t sgam =t

STHSYA (A) ; “SHTNER TEUET 3 SR H 91 SN =T AR $ 89 SO 959a

Saw fear 2

T (R) : ST BEHIET 18 w-Sid 519 31 0% WM o1 3R R st
T A &9 & W W S )

o Rww s ag Y

L (A) IRE) I TR

bt

(a) o8 & g ®) ot 7df &

(A) dR R)TFFEE

ik

4. (AR TR FgR) T

Options:

64535058199, 1
64535058200, 2
64535058201, =
64835058202 4

Question Number : 127 Question Id : 64635014806 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identifv the comrect code for the Assertion (A) and Reason (R) :

Assertion (A) : One of the important routes by which 2 confliet in one country
adversely affects neighbouring countries is through neighbourhood
arms race.

Feason (R) : Arms race sharply increases militancy expenditure of countries which
further leads to the risk of war.

Select the comrect option from those given below |
1.  Both(A) and (R) are comrect and (R} is the comrect explanation of (A)
2. Both{A) and (R) are not correct
3. (A)is correct but (R) is not related to the (A)
4. (A)1s not correct but (R) is correct

Options:

64535058203, 1
64535058204, 2
64535058205, 2
E4E35058206. 4



Question Number : 127 Question Id : 64635014806 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frafafEa sfiewa (A) 3R @ (R) F o 98 F 9 mam &1

afim (A) ; 5l o 3m ¥ oty =1 9o 59 veR @ Sl du R Fvm s &

usifat & #fte o 85 g 8 ol 2

& R) :m%\%ﬁhﬁﬂmmﬁmﬁa@aﬂﬁﬁ%m%ﬂmﬂm@
TRl

et fe @1 909 B

1. (A) 3R R) I @8 o (R). (A) B WEH oaram §
2 @ IRE AT
3. (AR g E). (A) 3 defiE TR

4. @ TEtFgE EEe

Options:

64535058203, 1
64535058204, 2
64535058205, =
4835058206, 4

Question Number : 128 Question Id : 64635014807 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Give below are the two statements— one labelled as Assertion (A) and the other labelled
as Reason (R) :

Assertion (A) : US is the only country that has the capability of achieving absolute
energy secunity in the contemporary era.

Feason (R) : Sinece the end of Cold War, the US has basically controlled the global
oil and gas resources and transit check points through military
cooperation with its allies.

Read the statements and choose the comrect answer using the codes given below :

1.  (A)is correct but (R) is not correct

&)

Both (A) and (R) are not comrect

{A)is correct but (B) is not the correct explanation of (A)

Lik

4. Both(A) and (R) are correct

Options:
E4AEZE055207. 1

E4E35058208. 2
E4E35058209. 3



EAE35058210. 4

Question Number : 128 Question Id : 64635014807 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
#r g FvA frn o ¥ U @1 aifiEA (A) R R F TH (R)FE T E

ﬁﬁmﬂﬁmg}:Hﬁﬂ?ﬁgmﬂaﬁﬁﬁﬂqama%m%ﬁﬁﬁhmﬁgﬁaﬁﬂ§ﬂmﬂnﬁﬁﬁ#aﬂ
&

@@ (R) : Hita g B T & aTe, Jo: smifvet s i wpt & Ty S angerd &
wan # Al d HR T8 gEEl R gt 39 aizes o1 Adan s 2

T F1 92 IR TR R g F e W I
1L ()T RgR) v Tde
2. (A)IRE)EFEETEE
3. (A) TR Eg®) (A) = wE aen T E

4. (A)SRE®)EAFIEEE

Options:

64535058207, 1
64535058208, 2
64835058209 2
4535058210, 4

Question Number : 129 Question Id : 64635014808 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements—one labelled as Assertion (A) and the other labelled
as Reason (B) :

Assertion (A) : Regionalism 15 based on the assumption that globalism is stll
premature.

Feason (B) : However, regionalism is an ackmowledged feature of intemational
relations and such arrangements are now accomplished fact on the
international scene.

Read the statements and choose the correct answer using the codes given below :

1. Assertion (A) 15 ncomrect but Reason (B) is comect

b2

Assertion (A) is correct but Reason (R) is incorrect

3. Both Assertion (A) and Reason (R) are incorrect

4.  Both Assertion (A) and Reason (R) are correct but (R) is not the correct
explanation of (A)

Options:
64635058211, 1



EAE35058212. 2
64535058213, 3
64535058214, 4

Question Number : 129 Question 1d : 64635014808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
F gt 7 faw T &1 vE St dfieE (A) SR T 9§ (R) T T 2
it (A) : wiEraETE 59 R W i & i e ond ot amfvow 2

7 (R) : TR, Widtaarars sy dadt St ue A e 2 R @ e
P1 a3 iy ufiew W s gefta aw 2

ol B 7 o 3 Ry T el 7t e Al o E

.

sfimm (A) w6 T fsg ad (R) d 2

b2

i (A) T8 2 g ae R) T T 2

sk

HIHEY (A) 3R TF (R) 1 961 781 &

4. sy (A) SR @ (R) SHT a8 & g ), (A) =t sl e Tl

Options:

4635058211, 1
64535058212, 2
64535058213 2
64535058214, 4

Question Number : 130 Question Id : 64635014809 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the comrect code for the following Assertion (A) and Reason (B) :

Assertion (A) : Since very early times "Artha’ has been regarded as a “Shastra’
concermned with general well being on earth.

Reason (R)  : State activity alone can make general well being possible by the
protection of earth and its acquisitions are declared the province of
*Shastra’.

Codes :

1. Both(A) and (R) are true

bt

Both (A) and (B) are not tue

[

(A is not true but (R) is true

4. (A)is true but (R) is not true

Options:
64535058215, 1
64835058216 2



E4E35058217. 3
E45350582158. 4

Question Number : 130 Question Id : 64635014809 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frafafEa sfimus (A) oiF a5 (R) & g adt o &t vgam =14

SHTHSY (A) : ieda weE w8 o S ot o A TR o veE | datta e
W & &9 d H=1 7 2

% (R) : Sae Ted 1 fearestnd Jult $ e T TR ST HT WG T Tebdl
2 3T 5o Wiiel = "W’ S 1A gitdd T @ 2

1. (AMRE)ITEIEEE

[

(A) iR ) ST aRt T
3 (EdETde BgR e
4 (AT R wETER

Options:
E4E325055215. 1

E4E35058216. 2
E4E35058217. 3
E45350582158. 4

Question Number : 131 Question 1d : 64635014810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arange the following ISRO space missions in the descending order in the context of
the vear of launch :

(2) IRNSS.II
(®) GSAT-31
() MARS ORBITER MISSION SPACECRAFT
(d) RESOURCESAT 1A
Options :
Lo (e (d); (b (2)
2. (dyich ()@
3. (@) (e (d

4. (bY (=), (dX ()

Options:
64835058219, 1
E4E35058220. 2



EAE35058221. 3
BAE35058222. 4

Question Number : 131 Question Id : 64635014810 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
?%%ﬂmﬁm%mqﬁmméﬁkmﬁmﬁmﬂm
(a) &M% AN U4, TH. 79- 11
() =it gE ud-31
(c) wr siifées fomm Wamee

(d) frarde 2u

L (e); (d); (b); @)

[

(d); (c); (&) (=)

{2): (): () (d)

sk

4. (bl (a), (d) (e}

Options:

64535058219, 1
4835058220 2
4535058221, 2
64535058222, 4

Question Number : 132 Question Id : 64635014811 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Amange the chronology of the following disasters in ascending order :
{a) Uttarakhand floods
(b) Chemobyl incident
{c) Fukushima tragedy
{d) Bhopal gas ragedy
Options :
Lo (d)(b); (e); (2}
2. (d) ek (b); (@)
3. (b) (@) ek (d)
4 (d)(b), (a); (c)

Options:
64535058223, 1



EAE35058224. 2
B4535058225. 3
BAE35058226. 4

Question Number : 132 Question 1d : 64635014811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Fmifera smugiel &1 39 HTA-HAMER SHIE HH H Yoaid &y

(a) TUOEE TG
(b) wiET g

(c) T el
(d) e g I

Lo (d)y (k) (e @
2. (dk(ck ) (a)
3.0 (o) (a) (o) (d)
4. (dx(®), () (0

Options:

64835058223, 1
4535058224, 2
64535058225, o
64535058226, 4

Question Number : 133 Question Id : 64635014812 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Armrange the following names of national security advisors of India in ascending order
in terms of their assuming the office :

(a) M. K. Naravanan
(b) I N. Dixit
{c) Shiv Shankar Menon
{d} Brajesh Mishra
Select the comrect option from those given below :
Lo (d); () (b (@)
2. (d); (b): (2): (c)
3. (d); (a); (b): (<)
4. () @), (o) @)

Options:



EAE35058227. 1
BAE535058228. 2
B4E535058229. 3
64535058230, 4

Question Number : 133 Question Id : 64635014812 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ﬁ%%ﬁgﬁﬁﬁﬁﬂﬁmﬂﬁmﬁmmmﬁ?a@mmﬂﬁwﬁm

(a) UH & AREUH
(b) .. g
(e) @ wiE &
(dy s fsn
ot fem &1 9m 5t

1L (d) ek () (=)

2 (d); (b); (ak ()

3.0 (d)y(a) (b (0

4. () (d), (b); (2)

Options:

64535058227, 1
4835058228, 2
4535058229 2
64535058220, 4

Question Number : 134 Question Id : 64635014813 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following organizations in the descending chronalogical order :
(a) African Union
(b) BIMSTEC
() GCC
(dy SCO
Choose the comrect answer from the codes given below :

1 (d) (b ek (2)

(]

(d); (e (b); (a)

(e): (d); (b); (2)

Ll

4. (b); (d), (c); (@)

Options:



E4E35058231. 1
BA535058232. 2
E4535058233. 3
64535058234, 4

Question Number : 134 Question Id : 64635014813 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FraftfEa drae 1 HaE! FIOEATAR Tared 1 :

(a) 3BT TY
®) fames
(c) =it 4.+
(d) TH FH.
R Ad T TH S A
FE
Lo (d); ®); (c) (2)

]

(d); (e); (b); (a)

el

(c); (d); (b); (a)
4. (bX (d). (c); (a)

Options:
4235058231, 1

EAE35058232. 2
E4535058233. 3
E4E535058234. 4

Question Number : 135 Question 1d : 64635014814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Amange the following organizations in the ascending chronological order :

(a) ISRO

(b) DRDO

(c) NTRO

(d) NR5A

Choose the correct answer from the codes given below !

1. (b) (ck (d): (a)

_b-.J

(b); (d); (a); (c)

(c): (a) (&), (d)

Ll

4. (b); (a), (d); (<)

Options:

64535058235, 1
64535058236, 2
64835058227, 2
4535058228 4

Question Number : 135 Question Id : 64635014814 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A2 fog y W @1 ARG BTBAER arafRE F -
(a) a0
) B om0
() UA. &5 . 3
(d) T.INTEQ
AR mEe A TR S T
L (o) (c); (d); (a)
2. (b (d): (@) (e}
3. (c) (a); (b); (@)
4. (b) (2), (d) (c)

Options:

64535058235, 1
64535058236, 2
E4E35058227. 2
64535058228, 4

Question Number : 136 Question Id : 64635014815 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Match List—I with List—II :

List-I List-II
(Countries) (Year of joining MTCR)

(a) Australia @ 2016

(b) Brazl {ii) 1993

(c) France (i) 1990

(d) India (iv) 1987

Choose the correct option from those given below -
Lo (aHa); (=) (e)-(); (d)-ain)
2. (a)ii) (b)(i); (e)); (d)iv)
3. (@G (b)0); ()0 (dHii)
4. (a)ii) (b)(ii); (e)iv) (d)(i)

Options:

4535058239, 1
64535058240, 2
64535058241, =
64535058242 4

Question Number : 136 Question 1d : 64635014815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

-1 1 FeI-11 § FAfCH B -
1 I
‘Eﬂ'ﬂ [, ﬁgﬁaﬂ? g ot
e L)
(a) srEfemm @ 2016
(b) Fa (i) 1995
(€ WE (i) 1990
(d) Hd iv) 1987
Rum AEmddas SR E I

L @)= (b)=Gii; (e)—iv); (i)
2 (@) B)-G0); () (v
3. (@)i): (b)=0): (e)=(iv); ()i
4. (@) )G -GV (d-6)

Options:

64535058239, 1
64535058240, 2
64535058241, =2
4535058242 4



Question Number : 137 Question Id : 64635014816 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List—I with List—II :

List=I List-II
(Countries) {Regions)
(a) Latvia (1) Central Asia
(b) Tajikistan (i} Baltic region
(c) Syrma (i) Caucasus region
(d) Azerbaijan (iv) Middle-East

Choose the correct option from those given below :
Lo (a-); (oG (e)-Gv): (d)-)
2. (a: (b)-G; ()—ivd; (d)ii)
3. (@) (b)) (e)ii); (d)Hiv)
4. (a0 (b)) (0w (d-0)
Options:
E4E35058243. 1
E4E35058244. 2
64535058245, 3
E4535058246. 4

Question Number : 137 Question 1d : 64635014816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

-1 1 -1 & AR F1 :

gl ﬁ[‘gﬁa‘—]n
(a) Tfern () ¥zoufmm
(b) e (i) wifees &=
(c) ¥fem (i) FiEwrs &
(d) ST (iv) A
ey Rem A 8w s Fawa &1

L (@) (b)), (c-Gv); (dHm)
2. ()i ()G, (e)=Gv); (d)Gii)
3. (@), ()i (e)—(i), (d)~(iv)
4. (i) (B=Gn); (-G (1)
Options:
64635058243 1

E4E35058244. 2
E4E35058245. 3



EAE35058246. 4

Question Number : 138 Question Id : 64635014817 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List=] with List=II :

List-1 List-II
(Books) (Aurhors)
(a) Chain of Custody (1) Sana Hashmi
(b) Kargil : Twning the Tide (i) C. Christine Fair

(¢} Fighting to the End : Pakistan Army's (iii} Mohinder Pur
Way af War

(d) China's Approach Towards Territorial (iv) Anita Nayar
Disputes
Choose the correct option from those given below :
L (@i (b)=Gv); (e)); (d)-{i)
2. (@Gv); (b)=ii); ()i, (d-G)
3. (@0 (e)-Gii); (c)-Gi); (d)-Gv)
4. (i), (b)=(i); ()-(1); (d)-(v)

Options:

64535058247, 1
E4E35058248. 2
4535058249 2
64535058250, 4

Question Number : 138 Question Id : 64635014817 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-1 =1 F-11 3 gt 39

-1 -1
(%) (FrE=)
@ &7 4% e (@) e
&) FRAN cHTFEES Gy @ e
() FRERTE s wiFET smia 3 siF aw i) e @t
(d) TTET OHiT goE Sieeia T (v) i A
FomiAFEmdd od s S au &1

1 (a)(i), (b)-(iv); (e)-D); (d)-ii)
2 (a)(iv); ()(ili); (e)(i); (1)
()i, (b)), (e)-(ii); (d)-iv)
4. (), (b)), (e)-0); (dH-0v)

Lad
.

Options:
64535058247, 1
64535058248, 2



E4E35058249. 3
E4535058250. 4

Question Number : 139 Question Id : 64635014818 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List=I with List=II :

List-I List-II
(Terromst incidents) (Date of happening)
(a) Parliament incident (i) 18 September, 2016
(b) Ut incident (i) 26 November, 2008
(c) Pathankot incident (i) 13 December, 2001
(d) Mumbai incident (iv) 2 January, 2016

Choose the comrect option from those given below :
1 (@i (bGv); (e)-G) (d)—ii)
2 (ap(in); (b)=(iv); (e)0); (d)-i)
3. (a)di); (b=, (e)=v); (d)=(i)
4. (ayua); (b)) (-0 (d)Hiv)
Options:
E4E2E055251. 1
CAEZE05E252. 2

64535058253, 3
E4535058254. 4

Question Number : 139 Question 1d : 64635014818 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T3 T g 3t -

Tqal-1 TEl-1I
[sficrardt g (sRe)] (afed &1 & foie)
(a) WHE BITEA @ 18 fdaw, 2016
) T g () 26 To¥T, 2008
(€) UBTH@IE B! geAl (i) 13 fewram, 2001
(d) HEsFIgEA (iv) 2, 2016
frmiTandd o o Tga &

L (a)=(ii); (b)=(iv); (c)={i); ()i}
2. (a)(id); (v (i) (d)i)
30 (a)i); (o)=(); (e)=(iv): (d)ii)
4 () (b)), (e)-); (d)-(m)

Options:



E4E35058251. 1
64535058252, 2
E4535058253. 3
64535058254, 4

Question Number : 140 Question Id : 64635014819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Martch List—I with List—IT :

List—I List-TI1
(Military Exercises) (Parmers)
{a) RedFlag iy MNATO
() PRABALDOSTYK (i) India-USA
(c) Ulchi-Freedom Guardian (i) South Korea-USA
{(d) Anakonda (iv) India-Kazakhstan

Choose the comrect option from those given below :
L (a)ii) (b)) (e i), (i)
(a)=(i); (b)=ii); (c)=Gv); (d)=ii)

bt

ad

()i (b)v); ()N (d)iii)
4. (ap(iv) (o)-(ii); (e)-(ii); (d)-0)

Options:

6465350582551

64635058256, 2

64535058257 2

EdE35058258. 4

Question Number : 140 Question Id : 64635014819 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 o Y- & gEfte =t
el-I -1

@ snam) (VTEIETR)
(@) TEW @ &
(b) VAT SR i) HRa-HgE T R
(c) Cedl-BigAmMRTT i) fEm i e v sl
(d) TS (iv) WRE-SwTEE
fam m faea & 9 Wt S TEE Y

Lo dapu) (b)) (e, (d)-0)
2. (a)); (b)=(ii); (e)=Gv); (d)(ii)
3. (a) (o-0v); ()i (d-Gin)
4. (@Gv) ()G ()Gl (-0

Options:

64835058255, 1
4535058256, 2
64535058257, o
64535058258, 4

Sub-Section Number: 2
Sub-Section Id: 646350701
Question Shuffling Allowed : Yes

Question Id : 64635014820 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label | Comprehension

Direction: Read the passage given Tbelow and answer the questions
{Q. Nos. 141 to 143) that are based on vour understanding of it :

Civil war differs radically from both intemational war and communal violence, Unlike
international war, it 1s fought outside any structure of rules and entirelv within the temitory of
the society. Unlike communal vielenee it implies a rebel organization equipped with
armaments and staffed with full-time recruits. Such rebel armies usually have linle option but
to live off the land. These features typically escalate the social costs of civil war above the
costs of either intemational war or communal violence. For example, the same conflict
between Ertrea and Ethiopia generated both a civil war and, following Eritrean
independence, an intemnational war. As a civil war the conflict lasted for 30 vears and was
ended only by military victory. As an intemational war the conflict was subject to the full
panoply of intemational mediation and ended swiftly in a negotiated settlement. To analyse
civil war we need to know what we mean by it. We adopt a precise but conventional
definition : civil war oeccurs when an identifiable rebel organization challenges the
govemnment military and the resulting violence results in more than 1,000 combat-related
deaths, with at least 5 percent on each side. There are many other forms of group violence,
such as protests, riots, and programs, but we do not consider them here.

The perpetrators of civil war usually adopt the rhetoric that the war is a necessary catalvst for
social progress. Occasionally this is right, but more typically war is an economic and social
disaster for the affected country. Therefore, for those whae care about development, civil war
is 2 major problem.



Sub questions

Question Number : 141 Question Id : 64635014821 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Civil war differs radically from intemational war as

=
'

it is fought outside any strueture of rules within the territory of the society

I

it is fought within the structure of rules outside the tervitory of the society

e

it implies a rebel organization is equipped with armaments

4. it is staffed with full-time recmits

Options:

64535058259, 1
64535058260, 2
E4E35058261. 2
4535058262, 4

Question Number : 142 Question Id : 64635014822 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Why does communal violence differ radically from civil war?

1. Because it implies a rebel organization is equipped with armaments

]

Because it is staffed with full-time recriits
3.  Because thev are not staffed with full-time recruits

4.  Because thev have little option but to live off the land
Options:
E4E35058263. 1
EAE35058264. 2
EAE35058265. 3
EAE35058266. 4

Question Number : 143 Question Id : 64635014823 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which feature typicallv escalates the social cost of civil war?
1 It has structure of rules and is not equipped with armaments
2. Itis not staffed with full-time recruits
3.  Ithas no structure of rules, equipped with armaments with full-time recruits

4.  Itis not fought entirely within the territory of the society
Options:
E4E35058267. 1
64535058268, 2
64835053269 2
64535058270 4



Question Number : 144 Question Id : 64635014824 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Civil war occurs when an identifiable rebel organization challenges the government

1. politically

2. socally

3. economically

4. milivarly
Options:

E4E35058271. 1
EAE35058272. 2
EAE35058273. 3
EAE535058274. 4

Question Number : 145 Question 1d : 64635014825 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
For those who care about development, eivil war is

1. nota problem

2. amajor problem

-

3. aminor problem

4.  a complex problem

Options:

64535058275, 1
64535058276, 2
E4E35058277. 2
64535058275, 4

Question Id : 64635014820 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 141 Question Id : 64635014821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
6 0%, dadPn gz d e A fim & wiifE

1. 3% 99E 1 Y40 & dide Foa = e i dma s e ag @ g
2. UREEE @ Y- F e Pl # we E e am e g

3. e adus e Redieergm el ddm d

4. oA =Hg S F0H UEiE TECEd §

Options:

4535058259, 1
64535058260 2
64535058261, =
64535058262, 4

Question Number : 142 Question Id : 64635014822 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e ke gs @ =i fim i

1. #frmeEddeiesgaEst sggaddadm?
2 s suE S S wu A giefe tree ga

3. s ToH Sl & w9 A Qe Tree T8 §

4. wiife 3% Thy 09 &7 3 g T F s Fr 9 T B

Options:

E4E35058263. 1
64535058264, 2
64535058265, o
64535058266, 4



Question Number : 143 Question Id : 64635014823 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
F-H i e T e st amfss e H e s &2
1. e el 3t wvaen 2t @ SR o gz ot @ i T aelt
2. o S & T d Qs Sree 9 B
3. gﬁﬁgﬁﬂﬁfﬂﬁ&ﬁ%ﬂ?ﬂﬁﬁ?ﬁﬂﬁﬁ@ﬁﬂ%?ﬂﬁﬁ?ﬁﬂﬂﬁﬂﬁ
4. T EHE B Y-HH F Qo Ui T8 981 war e

Options:

64535058267, 1
64535058268, 2
E4E35058269. 2
64535058270, 4

Question Number : 144 Question Id : 64635014824 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e O 74 51 B, 78 UE ey fAme eed frn s u A wen F ik dm &7

1. uoifoe

2. geifeE

3. onfifw

4. dwwud
Options:

E4E35058271. 1
BAE35058272. 2
64535058273, 3
64535058274, 4

Question Number : 145 Question Id : 64635014825 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
s F T e L e TR s

1. UEIHEIAEE

2. TEUEEaER

3. UF A aeen g

4 U wfeaTEE R
Options:
E4E8325058275. 1
EABZE05E27E. 2
E4EZ5058277. 2
E4E535058278. 4



Sub-Section Number: 3
Sub-Section I1d: 646350702
Question Shuffling Allowed : Yes

Question Id : 64635014826 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension

Direction : Read the passage given below and answer the questions (). Nos. 146 to 130)
that are based on your understanding of it :

In the past two decades, India has undergone dramatic transformations in the economic,
social and political spheres. The country has radically transformed its economy and is now
projected to be on course to become the third largest economy in the world by 2030. Besides
this spectacular economic growth, Indian demoeracy has steadily consolidated and expanded
its scope in the post-independence era. The recent successes of civil society groups in
mobilising public support for various causes are testimony to the power and resilience of
demaocratic India’s ability to negotiate conflicts within the society through peaceful methads.
However, despite its numerous successes, India faces encrmous challenges at the domestic,
regional and global levels.

India’s economic growth has not been matched by the evolution of its govemnanece structures
and institutional competence resulting in higher expectations of political institutions to bridge
the gap between promise and performance. India’s growth story has not vet translated into the
economic demoecracy envisioned by the country’s leaders. This may cause greater social and
political stresses than those that India has had to contend with during the first six decades
after its independence.

Sub questions

Question Number : 146 Question Id : 64635014827 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Bv the vear 2030 Indian economy is projected to become the
1.  third largest in the world
2. second largest in the world
3. largest in the world

4.  fourthlargest in the world
Options:
645350582749, 1
E4B25058280. 2
E4EZ5058281. 3
EAE35058282. 4

Question Number : 147 Question Id : 64635014828 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Testimony to the power and resilience of demoecratic India’s ability to negotiate
conflicts within the society through peaceful methods is

1.  recent success of human society groups in mobilising public support
2. past success of civil society groups in mobilising public suppornt
3. recent success of civil society groups in mobilising public support

4.  past success of religious society groups in mobilising public support

Options:
E4E2E055283. 1



EAE35058284. 2
E4535058285. 3
EAE535058286. 4

Question Number : 148 Question 1d : 64635014829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

India faces enormous challenges in economic, social and political spheres at
1.  the domesticlevels

2. theregional levels

-~
b}

the domestic and regional levels
4.  the domestic, regional and global levels
Options:
64535058287, 1
64835058288, 2
4535058259, 2
64535058290, 4

Question Number : 149 Question Id : 64635014830 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Higher expectations of India’s political institutions to bridge the gap between promise

and performance was due to

1.  mismatch berween economic growth and evolution ofits govemance
structure

]

match between economic growth and evelution of its govermnance

mismatch between economic growth, evelution of its govemanee structure
and institutional competence

(P

4. march between economic growth, evolution of its govemance structure and
institutional competance

Options:

64535058291, 1
64535058292, 2
64835058292 2
64535058294, 4

Question Number : 150 Question Id : 64635014831 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Greater social and political stresses in present dav India may be caused due to
1. failure totranslate into economic democracy
2. successful translation into economic democracy
3. failure to translate into socialist economy
4. successful translation into max economy

Options:
64535058295, 1



EAE350582396. 2
E4535058257. 3
E4E535058238. 4

Question Id : 64635014826 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension

ffw . Rttt R iRy T S MM m U g 46T 10T ST e -

fired 3l Tuel § yRa & anfife, smifas o vaifas 431 & Tesin ufads o 8 2o &
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FE] BN -9 e F1 9Tl tiediiae HiE $1 99 Wie AR gREs 31 wem E frae
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yrE @t anfile HefE uet wre dSvamat it dwite ymaedt & wefters & wy gu T e
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Sub questions

Question Number : 146 Question Id : 64635014827 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T 2030 aF WA Honawn FH T B AT T 87

1. oyt dredt wad =t sndomamn
2. o & godt wed e andoramn
3. fou 3t wed ad anforamn

4. foy = et wad ot srdaramn

Options:

64535058279, 1
64535058280, 2
64835058281, 2
645350582582, 4

Question Number : 147 Question Id : 64635014828 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fiferquf wiet & e & T & e Sedl & A F aal #1 diediEe HRd Sy #
Hida I THEH 1 T B

1. TF-9dE e # HEa S6E SR @1 BT R $1 S

2. oA e | fafam wresd wigl &1 fare awern

3. oH-awdE gom # fafm e el & e f Sawem

4. wA-ww e § ufids s aE! it g swem
Options:

B4535058283. 1
64535058284, 2



EAE35058285. 3
BAE35058286. 4

Question Number : 148 Question Id : 64635014829 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
i anfife, wrfors ok Teifes 4 # fre wR W srmfis Safadt @ ame & i

1. SEER
2. dgwR
3. o o et W

4. gt o v =

Options:

64535058287, 1
64535058288, 2
64835058289, 2
4535058290, 4

Question Number : 149 Question Id : 64635014830 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ﬂﬁﬁéﬂ;ﬁﬁﬂiﬁﬁrﬁﬁsm?ﬁﬂ1ﬁﬁﬁiﬁmﬁﬁﬁaﬁﬂﬁﬁHﬂﬁmiﬁﬁﬁﬁﬁﬁﬂﬂﬂﬁﬁﬁa
3 .

1. ofif Wl 3R 391 orea weael & sefaem & & et

2. s def o Iuat ores el & Feftes & de A

3. ffs df oue o & welte ik swife g & e aifa

4. s dof o= o St & wrfte o denfre e & S A

Options:
42350582491, 1

EAE350582392. 2
E4E35058293. 3
E4535058254. 4

Question Number : 150 Question Id : 64635014831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TAHA YA # fra SR il g AR TeHitee a9 397 5 §9d a7
1. anfife diee= A wurafa & & fawoa
2. anftfe dieda & wuimfa F & Jee
3. o) srderaen # Fuiaig $3 | fAwe
4. faftm srforen § woaf 59§ 9Eom
Options:
64635058295, 1
64635058236, 2

B4E535058257. 3
64535058238, 4



